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[Part 1] p-134
1 Of all the great jazz musicians of our age, none had greater =~ 22| Altfo] QUist = S2U7} & 20| AYAEZ(Louis
impact on the genre than Louis Armstrong. Armstrong Armstrong)2ts 0] F20f &2 7IE AlF2 oIRE girt
began playing music as a young teen on the streets of his YAES2 100 =B O] T A2[0|M SfS A5t
hometown, and he learned everything he knew about jazz 71 ANEGIHD O7F ofs XH=Q| RE AL £38%HE dt=
from traveling musicians, who let him play with them when SOISOIA HIR=H| DIES A2 SoUIEL UYAEE/
they came to town. During this time, Armstrong developed Sl A& 7|52 FUCE 0] AIE YAEZE AlAITIO| 5
a unique trumpet sound of his own, which was one of ot EgUl Ag|E JHESIR=0l A2 i SEXR 5583
intense improvisation. He also reinvented the melodies of O|Ct 1= LS QBSH 2ol WRC|ZS XAl XpAI9] E
popular songs in ways that pushed both him and his NS Soez 2013 YAeZ MWHERSIICL B2 M=
trumpet to the limit. Many jazz musicians followed in SoU7HE0| OHX| EXIT HEIGE AEIUS BULHHA A
Armstrong’s footsteps by imitating his energetic, EZ29 ¢xtxe matct, oA oxglol a2
spontaneous style. Undoubtedly, he is one of the jazz M= Se7tE &9 shtolct,
musicians who
(a) pioneered jazz music itself (@) M= S XS JhAet
(b) are popular among the public (o) ThE AtOlof A 21717t U=
(c) are attracted to trumpet sound (c) EZY Aejol oH=E
(d) have original styles (d) == ARUE TR
[6H&]  XH=E SU7t 20| YAEZ0| et 20|Ct developed a unique trumpet sound ~ his trumpet to the ImitS M 17t S8t E
ol A2|Lt SR AF HA| W29 XL S2 Soll AKLte] =56t ARS Xt S & 4 QUCH T2kM (d)
7t glzhofl 71 s Holoh M= Zf XIHIE JMAMSHAE UUSEZ (@)= 2LE0|H, tIE A0]2] QU= AZEX| HUe==
()= 2&olct
[012]]  intense Z&st X! improvisation 55 &5 reinvent MEZSICH imitate 2Ysict  energetic 717t Exle
spontaneous XiPA22, 7HEl=  pioneer JH&atct
2 Since Swiss astronomer Fritz Zwicky first theorized about the = AQ|AS| MISIX} ma|x =Q|7|(Fritz Zwicky)7t 239 ‘2
existence of so-called “dark matter” in the universe, scientists =2%/'ol2tn £2l= &XE X2 023516t 0|2 WfeiXlS
have studied the possibility of dark matter, believing it may S 17{0] 239 HZLS K T Z20{E Z{0l2t= 2igo=
unlock some of the secrets of the universe. Scientists have USER0| JHsAS ATGIRICH DSIAISS QFITE 0] Ald|
yet to determine what the mysterious substance is made of, St AH7E 2oloz BHSOIR=X| LotLioF SIUXIRE T1710|
but it is clear that it played a crucial role in the formation of the | 2 ZIAfo] &M ZAZQI HES ict= 242 2Hsict
cosmos. Understanding dark matter could help scientists SEEE Olalisle A2 neixiS0| 232 20 HIES 0]
figure out the movement and arrangement of the universe, sfatn, et 20| up ofLlet n2iE HRek=E o £2
and thus be able to look into its future as well as its past. = = Zlolch, X9l ojolgt ofsoll= E+ot, YEEES

Though poorly understood now, dark matter

(a) is worthy of more research (i
(b) is accepted by most scientists (
(c) is hard to observe © E*E%UM E%
(d) is present all over the universe (
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[012]]  theorize 0|22 MAlSICH existence & unlock (U2 S8) =2iuict crucial 28t formation &4 cosmos 2%
arrangement i present Zxifsi=
3 The social structure of the Inca Empire was rigid in many ways, U7t M=9] AtE] #2= o2 ST FA=0], 28
consisting of a class system that separated regular people from Aot 9= 7 e PR Fe AS AR AMEA
royalty and their relatives. Even if a member of the working class =~ Cf =5 759 22 1 Z0f 7|22 LEQ ALIS &
was beloved by the royal court for his craft, he had no chance of ACH ol IR &89 JIgls Te SiUTt 2L} ofs
rising above his place. However, he could hold out hope for his off tishiAls sls 712 24 QIict Y7tol ololE2 of
children. Inca children were given intelligence tests at a young 2l A" X5 dAE Et=dl DJOT Skt 152 ¢
age, and if they passed, they were allowed to attend school and s CHT 7% Zl5e2 HYg 4 UM HIE st
join the ranks of the nobles. Though social mobility was S OUZXl 2 MOl A=lH 0|82 27HssIURI,
impossible for those who did not attend school,
(a) children of the working class could learn crafts at school @ =& 759 ols2 oA SIS HiE 4= JURACH
(b) every student had a chance to move upward (b) 2E SHl2 AE &0l 7|22 7t
(c) children with any special talents could become royalty (c) E717t QU= OotsE etz AE0| & & UACH
(d) all the Inca children got equal education (d) 2 Y7t ots2 58 uKRsS LUCH
Bl A7F M=l A2l Al A2 0SS thE 20|tk SfuE CHUX| 2= 012 AR &480] 27153tk WE0] Bizt ol Lt
0, Though(H|E ~3iCt otCete)2 0|20{ 2ot PIZtol= 019 Bitiel= Lh20] S0{710F &f2 & 4~ QUCt However, he could
hold out hope for his children2 EH 0 0l52 A2 A50| 73t AMAS & 4 Q=] if they passed, ~ ranks of the
noblesofl= atwof skshor &0l 2 4 UACks 0| LI2CE W2k (0)7F HEOICH XIS0[ £0[0F S0l stsiof nes
LASBE ()2t (d)= REoICh
[012]]  rigid &izfst craft zi% 712 hold out (81¥) 2o|ct =2fuict  intelligence test Xls ZA mobility 54
4 Many of America’s large cities owe their existence 0|29 %2 thzAl= 1947
we =
in the 19th century. This railroad boom EEESVEIES M\Qm Ho| 532 X2 MAES 7
turned tiny settlements into thriving towns and cities almost o| 5t=H Af0|0f HEGH= OF20|Lt TAIZ HPE=D|, off
overnight, and among them was the city of Atlanta. The city EUEL AE O 5 6H.}O|Ef' O EAE HE Q82 QI
began as a small settlement for railroad workers. Since it was the RO HAEOIM AREQICH Hro| E2 2 XEo| x|

easternmost point on the proposed railway, its few inhabitants
named it Terminus. Between 1842 and 1860, the town grew from

;O\‘ i

7] 2ol 2 o == F
(Terminus)2t il SXICt 18420

FUEL 0 TNE BA
7} 19605 Afolol, 302
oxgoz 50*-7'-, =]

o 28 71y A

just 30 inhabitants to over 9,000, and it changed its name to XILbR] @it O 0p29] Z=oie
Atlanta. Clearly, if not for the building of the railroads, the city |22 OfSEIR HIHQICH 2 Ho 7
would never have grown very large. O CAl= ZIE O3A I AESIKE 23S Zio) ;
(a) to industrialization of the U.S. (a) D|=2o| Ateist
(b) to railroad workers at each city (b) 2t =Alo| Hx olms
(c) to the construction of railroads (0) Ao AA
(d) to careful city planning (d) MIABH EA] A&l
[BH&]  19M710] 0= CHEAISOl HEE 4 AU 0lR= HiZ Ho| 71Hol2k= LHEC| 20Itt This rairoad boom ~ almost
overnighto M= HE=9| S&0| TAIE &AIZH0 HEAZ HEAZICHE LHE0| L2, Clearly, if not for the building ~ have
grown very largedf= HE9| Z1H0[ QIUTRIH =APE G| RS 7ets 80| d=En). 015 S&fs
et g2 ()olct,
[01#]]  owe ~of H=olct  turn Alinto B AZ B2 BT settlement &2t thrive #i45ict inhabitant 2! industrialization &}
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This is a notice to all employees that Brightstar Industries will be
in the coming months. The president of the
company is currently consulting with certified wellness coaches to

devise a plan that will benefit all employees and make us a
healthier company. Though the exact details are not available yet,
the program is already under development. Some areas of health
and wellness that we will seek to improve upon include losing
weight, quitting smoking, and getting regular health exams.

(a) providing health and wellness insurance services
(b) holding an annual athletic meeting

(c) offering yearly health examinations

(d) starting a health and wellness program

[eH&]  ZFREoiA ol et BlAF =X MHIAS JHESHH MSsHtE

ArdE Yel= SAIZ0|ck glZtof
M7t E0{7f0oF StCt consulting with certified ~ a healthier companyE £™ 0| #=l9] ilxm x|
9lo

2 4 ASH, 00 NS FE, 29, U T S0| =20 ALS= EH2 (d)o|ch, B AMdlA

Brightstar Industries= <7112 Liof|

2AYS =E &'%Oﬂﬂl IR, #20) s 7S

2% =X MEISHA 2E Zo g 0 71

s SIS OIS AE 420 ofEt A2 Tatn Ul

O HEE MR AR OfF OIFOIY, 0 Z2IHS of

ol JH ol UsLIch M7 S| Hsts 2t

717 malol A gL AE Zolu 291 &| 712
|

() AT 22X EF M| Az
(b) & S thal=2 HzE
(c) A7t 71 Axlg M3
(d) AZT AR Z2IAS olg

>

HAOIZZ (a)= 2E0|H, 714 A2l Qof ChE 71 2 MH|AE XSot22 (c)= 2F0|Ch
[012]]  consult with ~2t AEi5ict  certified 252 wellness 2X| 7128 devise 125ict  athletic meeting 253

VirtualShare offers the best solutions for your office
communication needs. We are changing the way you
collaborate online with your colleagues. Our system features
automatic alerts that inform all authors of a specific online
document of any recent changes made. In addition,
VirtualShare is compatible with all of the popular office
programs so that documents and spreadsheets can be easily
uploaded to the system, and it also allows users to find
documents online rather than emailing bulky attachments. All
in all, switching to VirtualShare hosting service will

(a) improve computer security in the office
(b) increase your profits in a short time

(c) enhance your office efficiency

(d) help employees communicate more

[BHE] ARRA oM 2 288 =007] flet 2 ES
madeS EH 2A HYXIS0| HE Mg € & 4 U2,
EME 22l g2 HE 4 ATt ol 2F =
A

of o =Hol }F01M lesz (d)e gol 2 4 Qirth

[013]]  collaborate 2=o= =lefsict #2isict  inform A of B A0l Bojl 25t

bulky tigzte| attachment (0[n2e)) M2ntd  all in all HEHES
y

Local school systems are beginning to feel pressure to do
something about their students’ commute to school as the
cost of school buses rises. For instance, the Meriwether
School District has gone so far as to completely suspend bus
services until fuel drop back to a reasonable price.
Neighboring school systems are considering similar action,
prompting anger from parents whose work schedules do not

VirtualShare= MIRA OAAE0| tist 270 1ol
sHZMS NBELICL Mal= 7517+ S50 2aj0lo2
BRiEte WA BTD ABUICL X8| AlA"Y S32
S 2810l SMS AN BE 2X0/)A F20 HiS
g Aisoz YeiFEe 2L rga VirtualShare
_

Off A fﬁ‘g i‘Z = A oisLc ZEXNo=Z,
VirtualShare®l SAE MH|AZ HFEAIH
2 &L

(@) Al ) 2R ot
() B2 ARt U0l i
(
(

U5te] AF2Al &
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d) HES0| JMrSE O B &

4

2101 MH|AZS HZsH= YAe| Zn20lct inform all authors of ~ recent changes
Qlomy, users to find documents ~ bulky attachmentsof| t=2H Z st

=
2RO FEHE =0FE A0IBZ (07t HHOICL A ML 2ot &R
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SsitHA 28 HIE0| FOMXXF XY st Mile s
o| Sotuwof thst Mg Z7e LeME Lr7| AR
C}. OIE £01 Meriwether S22 R7I7F &g FAo
2 S0 W7tx| HP\ S o] ST |7HA| 3HC
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Qe BRE0| B ZAsI Aot matA B2 otols
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allow them the luxury of driving their kids to and from school. 0| ZOA SustL:, RIFLt CHE ofo] B2y Xiof
Therefore, many children will be left to walk to school or to SSolloF 2 Z0|Ch B2 BRet WAE2 013 &Eo|
carpool with friends or other kids’ parents. Many parents and FAPNEST=I|u 3

teachers say this

(a) helps schools run their buses again (@) St HAS CHA| 28 4~ AUEE =0t

(b) threatens children’s safety (o) Ot0|Z2] otrE Bt

(c) ultimately leads to the rise of fuel prices (0 Z=0l= |7t H&e2 0|2

(d) makes children exercise more (d) oto|S0| 288 H of=F BHECt

[BHE] |7t &2 stu SsitA 20| xFH0| 474 U2 Stus0| SSHAS HIX|stH1l ofH, SIEDet WANSO| ofo] RHE &
felin LH%O\Ef %i’iﬂéﬂ CHLX| 2P RE2 010|S0] EHES Z{0{0F stof Zof Ch7ALt CFE 229| Xiof Etof Sith= H

f.m2tM (b)7F Eol Ec,
[012]]  commute S35t school district &7 817 suspend S5t neighboring QIEst  prompt E5iCt
carpool 7t2{&8xt &7 EP(Ig sict ultimately 22Xz

8 As the newest executives at Middleton Industries, you
. Your first week will consist of orientation
seminars that are intended to teach and perfect the skills that
are vital to being great leaders. Each day a guest speaker will
conduct a training session on a different topic in business
management, beginning Monday and lasting through Friday
afternoon. We hope that this experience allows all of our new 2 X =} e
executives to realize their full potential as leaders and start their S Nen 1|ﬁ O| zioz M2 dstg AIRfE 4
new careers with the utmost confidence. UA7|S HIFLICH
(a) are expected to have training sessions (@) w8 717t2 HX|IMoF ghuct
(b) should attend our board meetings (o) XE|2| OJAIZ|0f &AiGHAMOF SILICH
(c) will receive better pay and benefits (c) & L2 S5t 0l2s Ee AYLct
(d) should hold seminars for employee training @) =Y 12 9|5t MojLtE JHE|EMoF EHct
[BHA]  SIAte] Al URISOH mSS 2olof sithe AMME 22|= ZX|0|C will consist of orientation seminars ~ being great
leadersE EM 0|50| Ht2 X=Xt e o Zeeh XA thsh nes Be=ris AS & 4 QI2H, a training session on
a different topic in business managementOi M= WKQ| X7t 7| ZAHO0|2H= AMMS & 4 QICH Wt HES (a)o]C,
[012]]  executive ZZ%I conduct (EXs &=S) sict utmost 3=2 board meeting 0IAlS|
9

Despite the fact that the U.S. economy is in a deep recession, the 0|2 ZH7t Zo

information technology industry is expected to grow once again = 2ol ChA| Bt J8E ez JiEdt 22 7Y
this year. A recent survey of companies shows that 60% of MERALO] 25} fXHO] 60%7} IT MH|A oAk
respondents actually expect to keep the same budgets for IT |H3 27 206/ 53 AR Atay HYSIIC
services or even expand their budgets. The industries in which IT7120| H8== g2 A=et ol % £=0i
information technology will continue to thrive include health care, M XS X&E Jdolct tHREE9l SEXAIS0| £/Z29
energy, and government. Most respondents said that they are 2700 UEYT 24E g Zoz HMysictn
looking for increased network security during these difficult times. HIUCH R ITAHR2 A
For the time being, IT industries will . I

(a) strive to develop security services (a) HOF MH|AEZ JHetsl B
(b) increase their budgets for network security (b) HEY=Z HotR ofitg s

(c) continue to be in high demand ( §
(d) likely have a hard time earning profits (

I 47t AlSdiM =
=
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[012]]  recession 22 respondent SExt budget oltt  for the time being @27t strive 2%sict  profit 42 0/2]

At Copy Palace, we promise to . We offer
low rates on copying, faxing, binding, and shipping your
important documents. Most of all, our Print Online service

makes business travel easier. Instead of carrying stacks of
documents to your destination, simply upload them to our
website, and we will print, bind, and ship your presentation
packets anywhere in the world. We are open 24 hours a day to
service your needs at any time, and we have several convenient
locations near you.

(a) provide copying services at the lowest price
(b) give our customers the best service

(c) deliver your products anywhere in the world
(d) offer worldwide services for business

X3 Copy Palace= Ae
A SLICH SAL WA XE, J2/1 528 2M9 2
&2 Mgt Hgez MIgL =] A=lel Print
Online MH|A= XS ErCt HolA| LCh SXX(7t
Xl M ColE 7t47t= oAl Xs| YAO|Eo]| Zttsl
SRR SHAIH, Ql4fs % 1 Mot o2l UH X2
S MMA oClEX] 2&si=E Lt eixate m249
Q0 SotIXt 24A2H SYstH, od2ig & Hels
QIxlof Xt2lstn UELct

a) 7ty Mgt 7oz SA MHIAS HMSY

S0l Fmo| MHIAS HSE
2O 4ES TM ofclete digE
L

RLIAZ 9fst HNZIE MHIAS A

OH o

=13

A

[BH&]  SAL HA 2M 28 59 MHIAE MIst= 3lAtel oot BiZtol= o] 19| &= SX0| S0{7t0F Strf. Most of all, our
Print Online service ~ anywhere in the worldE EM Z119| £ WE0| L2t Q=0 0] A= M MAIZ XI=E Higsh &
o

Ch M2tN (o7 guol EXo=z TRy MEsH, 71 MR 71220Xe & & Y282 (@)= Bol 2 4 itk J30| offet

UH X=2E HiFgshEe A0SR (o= 2Eo|ct
[012]]  binding A2 shipping & stack i}, 2Ci7|  destination SXx|

As China continues to rapidly industrialize, it faces problems
when it comes to energy intensity. Energy intensity is a term
used to describe the relationship between energy used and
wealth created by it. Obviously, the lower energy intensity
becomes, the better. However, China is struggling with low
energy efficiency, and it has recently overtaken the U.S. as the
world’s foremost producer of COZ2. It seems that the rush to
industrialize has resulted in energy solutions that are quick
rather than efficient. Until this difficult issue is resolved, China’s
energy intensity

(a) will become lower than that of the U.S.
(b) is likely to lead to CO2 reduction

(c) will become the highest in the world
(d) will probably remain high or go up
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For centuries England had been a land of many languages—Latin, M7 2 =2 2o, ZFAN § B2 AH0E
French, and Middle English were all spoken for various different AISSIAL M Hole 25 Mz ChE et =45
purposes. However, after the Hundred Years' War saw the defeat O AEEIRICH J2iLf YWETY $ =0 TFAQI
of the English at the hands of the French, England attempted to Ol miStxt F=e Z2tARl 72|E RXlek sD,
distance itself from France, and the English language took on a Joz F=eE Seote IS ot =M
unifying role among Britons. The works of poets such as Chaucer (Chaucen)2t Z+& A|Qlo] ZES Aoz M{KOH
were written in English, and such works helped to standardize the 0l AZ2 YO =2 HZEStot= O OHFXISYCE
English language for the first time. Consequently, the Hundred AuNoz WEAMYE E]
Years’ War played a significant role in 328t ogts Mot
(a) developing the English language (@) HoIs UXA7 =
(b) bringing other languages to England (b) CHE 20IE F=o= S0
(c) creating a new sense of nationality in England () Y= Mz 27} oAlS ntE=
(d) making English the common language of the world (d) Y= MIA E20=2 Dtes
[ahd] G0l MAMMO = Qlglf mEfAeo] ALO[7} LItXIXF ZZAS Helsk= nhFolA FoPrt LXM=Ll S0Ich ofXoll=
HoIE dIRel 2tElof, ZYA0 S0| &7 A¥oLt HEHAMY 0|22 HoPrt F=USS SIeH, oluf Ax2 #FSHE Hof
7h MZICH metd g2 (@O0l (b)s HEN 0|79 do|n, WMEATY X7t =71 QAS HoIFACkE AE2 YIRBE (o=
Folck
[012]]  defeat ot attempt to ~s2{n sict, Al=5ict take on (¥, %8 2t unify S&feitt  standardize m&stsict
significant £23%t nationality =4, =2l
13 Dear parents: 20y st
First of all, we at Camp Sunnyside would like to thank you for A kel XHAE0] 012 Camp Sunnyside0liM 3|
allowing your children to spend the summer here with us. ot GHES X 4 QU2 FBHFMA] ZARRILICE 1
However, we would like to notify you of new rules we have 2Lt 220} xpAQte| SiEtol| thal X5|7t =olet Mz
instituted regarding communication between parents and their 1AS odyse|axt gUch g #Mmol =ZxXe
children. We believe that the purpose of summer camp is ol2t AMZtgiL|ct, o 0lF
. For this reason, we would like to request 2 HodHE ESOA EX|ZE MA|D Met AFZ2 At
that parents only write letters to their children and abstain from HlahzAl2 e =2lL|C X|LIR| A Ze Aol ofzt
phone calls. Too much direct communication could jeopardize 2 H A7 XY QU SEGtEE 5= X359 =
our efforts to help your children grow confident in themselves. S UE 45 Q&L
Sincerely, Camp Sunnyside 22
Camp Sunnyside
(a) to remove children from the influence of parents (@) otolSOlIAINM 29| Hakg Q=S st= A
(b) to teach kids how to survive in the wilderness (b) OtOISOMIAI IO HOlEE o U=S TI2R= A
(c) to help children grow into independent adults (c) Ot0I=0| =Xl Mooz X2tes 5= A
(d) to teach children better communication skills (d) O10OIS0| QAAE 5HE 7|22 7I2X|= A
[BHE] O d=oilM RS0l EUli= E5 HX0Ch 22007 ME2 #2E Yel= 0| 0] X9 =X0|H, parents only write
letters ~ phone callsOfl 1 20| HIZ M3t 3t FX|ek= 0| L20) 22E0k= FAl BoPA XIUTAM X2 U= AR
o= HYIEE S= A0| WU FXM0|82 H2 (o)7f Eo,
[012]]  notify Z2ict institute =¥5ict regarding ~oil 5t0f abstain from ~2 A7t jeopardize LIEHSA SiCt
independent =2/%0!l xjZi&0l
14 Florence, Italy, is well known as the birthplace of the olgzlotel melH((Florence)= 20t 2|4 S of
Renaissance, which was the movement to revive Roman and &5 2Solele 230 2ulyA0 LyX|z2 & He
Greek styles of art. The city’s most prominent landmark is Santa ~ 2/C}, 21 ZA|Q] 71& E20l= AXS2 13M7(2F 144
Maria del Fiore, a famous domed cathedral built in the 13th and 700 ZX 2 20f YAlo= X0)F SHo| QESH At
14th centuries in a largely Roman style. The city is also home to ofzjot & m<e2f(Santa Maria del Fiore) 0|
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one of the world’s most famous works of art, Michelangelo’s
statue of David. This incredible work of art also borrowed
heavily from Roman sculptures of the human form. Thanks to
these important contributions, Florence

(a) is considered the center of Renaissance culture

(b) has given ideas to Renaissance artists

(c) has been under the influence of Roman and Greek art
(d) is home to many famous works of art

Cf. DRIGS E3t MAROR 71 RUs 0f2E 712
o BiLiol OjRPAZ Ol Ch|=(David) Z2tA0] D
Ol Of H2t2 ofa A= %Al 20to| QXY x2to]
sie 2ol Wit olafgt 710 HEol mAKS
a) 2UAA 250 ZAXIZ PFE

[ai&]  ol=zlote| DMt 2UMA 2829 AKX IS Fth= WEQ 20iCh 2uMdA= 2ot J2|A 29| ola2 BEsA7lEe
2502 o U= AtEF Ot2jot & m|ee MYut CHIE 42 25 2oF YAS ORCH 0|2 0|20 2 of, m2iX= 24|
oA 2oto ZAXE ATE U > JeDE HE (a)0|of, SXHTIX| J2|A 2ot Feg = AR 0 2E (o= 2E0IH,
()= 2Uly20i cist Lhgo| otct

[012]]  revive £5 £&A7Ict prominent 925t £23% landmark 2 X|&x/2 domed B89 cathedral cixg

incredible 53t sculpture =21% contribution 7|04, 0|Htx]

Animal cloning has been the subject of much controversy since
1997, when Scottish scientists cloned the first sheep. Opinions
differ greatly on whether animal cloning is morally right, and each
side presents valid arguments. Those that oppose animal cloning
claim the decreased life spans and ill health of cloned animals
make it a cruel practice. , many support

further research in the hopes that cloned animals may one day

provide organs for transplants into sick or diseased humans.

(a) As aresult

(b) For instance

(c) On the other hand

(d) In addition
[aH4] =2 =il thst 2B ol74S AJistH 0] oj7d0] =
animal cloning is morally right2 Sl 0| 22| Fx|7} 75_*“_*
EfLHH
hand 7} =ICt,

SI2Ee &Y YNS Ueihn Yooz of £

transplant 0/4

In his book The Lost City of Z, reporter David Grann follows the
adventures of one of the last great British explorers, Percy Fawcett.
In the early 20th century, the Amazon rain forest still held many
mysteries; Grann details Fawcett's exploration of the Amazon—-an
adventure that would ultimately prove dangerous—with the
excitement of an adventure novel. Grann does not stay within the
library to research Fawcett's adventures; ,
he follows in the explorer's own footsteps into the wilds of South
America. Along the way, he comes to his own realizations about
mankind, nature, and the process of discovery.

(a) therefore
(b) even so
(c) instead
(d) otherwise

7MY AEet dZole EHE
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17 Are you over forty and single? Are you tired of going on one OF=0| g X AAL2? et =275 K| Xot
bad date after another and never finding that special 1 = 233t Ho|EE st dl H2IMCt27? LoveSpark
someone? At LoveSpark, we realize the demands that come = Lo[7t SHAM ERsH Z0| FSIIX| HhE Aol Hio]
with being older and know the frustrations of fitting a dating life E AZX| 7|Y 200} sH= MBARLS LT}, X3

HIZ 07| M3 AReolA & Halet A

into a busy work and family life. We seek to match you with = 2l Ay

great dates every time, by way of a personality profile Safl ot Aol SR AHE AJfs SRILICH B K|

designed right here in our offices. The simple questionnaire Zheteh AZ0| HollFAIE G4 7ty & oigels 2R

takes just minutes to fill out, and we provide you with the S|@el 0122 YEi=2lZlsUt 25 LoveSpark.comS
=13

names of several members who are most compatible with you. 25IAT 22 HE 3oz JIGHMIR.

Visit LoveSpark.com today for your free trial membership.

Q: What is the main topic of the advertisement? Q: ¢ 1ol FH=?

(@) An easy way to find dates for older people (a) Lto] = AIHS0] HI0|E HUiE = 412 W
(b) The importance of finding a compatible partner (b) & %= MEHE = Aol 284

(c) Free matchmaking service for people in their forties (c) 40tHE QI 22 ot M MblA

(d) Setting up the best date for busy people (d) bH AIZSS 9I8H 2|09 Ho|E =4

[a14]  40CH oA A2 HHES st ot =M AlO|EZS EHSH= 20ICt, At LoveSpark, we realize ~ great dates every timeS =
O HRE YHS Al= LI0] £ ARISOIA 71 & Ste AlRfntel BHeES Fidoh= 0] 0] SAle] =Xds o 4

7t g0l =0, 227t o2t B2 MS MEeith=s WE0| JALBR (c)= Hol & 4 Qith
\

[012]]  come with matert S9tsict frustration A&, Anf  fit A into B Bofl AS S0{ 34| sttt be compatible with

QAL T2t (a)

~1} of=2lct

18 In the 16 months from the start of 2009, the population of 2009 O|F 1670 S ORiss =0 w=r B33
endangered mountain gorillas in the Congo increased by 12.5 700 M 09| oRRE D2t XN 4= 12.5% S7t
percent, according to the country’s wildlife authority. During SIZICE O] =AF 7|12F S0t |%7}(V|runga)3€l1 2o M
this study, the total number of gorillas living in Virunga Ms}g TEet XA 40t 720120l 810k|2 Sl M
National Park increased from 72 to 81. Countrywide, the =XOoR T Xtz 2000f2E Gt Ol= vIS7te| nE
population has surpassed 200. This is especially good news 2FE0IA E5| 22 AARlH| 0[E2 200701 At A|
for the gorillas of Virunga, who suffered through a major o ASS IRcH 209 ™ A9 AieiEs ESIIER
slaughter by hunters in 2007. Conservationists in the Congo O AlFAR &0 ChAIE Bideh= A8 E1 AL
and the rest of the world are heartened to see such a beloved ~ lct.
species thriving yet again.

Q: What is the article mainly about? Q: 7l ZIMel FA=?
a) n2IS0| OGN AT FHZRE] HOIHU=7F

(a) How gorillas survived hunters
(b) A rise in the number of gorillas
(c) The importance of mountain gorillas

(d) Cause of the rising number of gorillas d) nEet #7+ STtok= R

[BHE] 31 U HBE 7loll M3 028 nEete] 7| 7t &
endangered ~ wildlife authorityS 2H FHE & 4 UC
5| AFEX] YALEZ (d)= REOICE
[012]] endangered ZZ %i7(0fl Xt surpass Hoidtt slaughter =4 conservationist 2% 21 257t species

PN

et g2 (0)7h =ln, nEet 47+ S7isks 2l

ABZ  Answer key
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Humor can be used to elevate our moods and put us in a
happier state of mind. However, it can also be used for the
opposite purpose, that is, to make someone feel bad about
himself or herself. When someone makes a joke that
embarrasses or mocks another person, it is usually an effort
to do one thing: to make that person seem superior to the
person being mocked. Of course, a little bit of kidding is often
harmless, but there is a point at which humor becomes hurtful
to others, as when making fun of someone’s weaknesses or
mocking their actions.

Q: What is the passage mainly about?

(a) The effects of making bad jokes

(b) The difference between good and hurtful humor
(c) Why people make jokes

(d) Humor harmful to others

[BH&] O MES Z0F U2l XIS XIAMS7| 2lsll sk 552 B

o= 0|BCt J2iLt SO Cf2 2XMo2 AIRE L& Q)

d, & o

FHzE 222 7|22 £/ sku Bt d=st 4Efel o5
o
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S

o Rk -
B Ol= X2 B JHKIZ It L-2olE| a2 mRlo) that
0l El= AR Bals A2

Olct, B2 AABH SHE a7t HX| = P2t
2 Aol ope e 150 #SS B U
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T
>
ot
I
40
1
ol
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652 ron
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(@) L2 sEO et

(b) 22 sE 7|2 L2 s X0IH
(©) MEHE0| sHE dk= 0lF

(

fRIOIA AME & 4 UCh= LIEQ 20T}, However, it can

also ~ himself or herself2} a joke that embarrasses or mocks another person2 EMH 0| 20| & L& Stof et LIRS
EAE 4 eaR (d)7t ol "ot £2 sEut 712 L 59 XI0|FE 20l YANe R SLX| ¢Rieoz (bje 20|

— oo
O, Lh S5O S22 MR Aol 206IEE (@)= 2EOo|C
[012]]  elevate TFAI7Ict mock s2Itt ZE5iCt  superior RSt st

During her time in the 6th century B.C., and for several
centuries thereafter, the Greek poet Sappho was considered
one of the greatest poets of the Classical Age. She was praised
by many great poets still renowned today, and philosophers
such as Plato. Her popularity extended well into Roman times,
but it was then that her work was taught less and less in
schools, and scholars gradually lost interest. Accordingly, some
of the greatest poetry ever written was in jeopardy of being
forgotten. Even today, we have but a few fragments of her
poems, discovered at archaeological sites in Egypt.

Q: What is the best title for the passage?

(a) Sappho as the First Great Female Poet

(b) Sappho’s Work Largely Lost to the Modern World
(c) Great Poets of Ancient Greece and Rome

(d) The Rediscovery of Sappho in Modern Times

[314]  T2lA0] BB 01 AIRIOIUE AES| AP FE BZ wx|

89| 20|ct, HolME AfEO] REME TFELD QoL %IOHME a

ZZ0| SAX7IA] HOIURX| STt Abelo] 22

+
>
—
rin
_rj

fragment 22, o4 archeological 1189 site $1&

Dear patients,

As you may have read in the news, a commonly prescribed
sleeping pill known as Somnix has been found to cause
disturbing side effects. Among them are walking and talking

ot ETHA {oiol|l M= AE0| AHY

XZ0| HOIUX| ELt= &0l 2 =Fo| U 7E§, AHELO|

2tA (b)7t FEolch

[012]]  thereafter 1 0l renowned ¥4 %= extend into ~7X| ZI&E/Ct  gradually EiECZ2  in jeopardy 217(0f &
X

[= e}

hurtful 0}3S ot=A 5t= make fun of ~& =2|ct

a2|A0] ARl A (Sappho)s 1147t AQtE 7
A7’ 2 = 2 A7| S0t oo az2lA 2of Althel 7
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in one’s sleep, a habit that poses many hazards such as falling =g, ol= SA0IA Hojxl= S we 9Eo| BeE
down stairs. Thus, | caution any patients currently taking Somnix £ Q= SERILICH J222 SiXf SomnixE =
to notify me at once if you begin to notice any of these side =

effects. | urge you to only take the medication as needed, and to SHGIAZ HESILC), WS D=0 ok =225(0f
refrain from taking it for an extended period of time. | will be SHH A7|ZH 222 AZEMOIRE SiLICH 237t HAl=
happy to meet with concerned patients and have medications ERES 70| B HesitH MUS HHHERIE
changed if this is necessary. ik

Sincerely, O|S[EIAF Smith 28

Dr. Smith

Q: What is the main purpose of the letter? Q: ¢ HX|o] =527

(a) To cancel a prescription for the medicine (@) & MUTs Fisk= A

(b) To recall a medicine with side effects (b) Bxt20| U= &S slast= A

(c) To instruct people how to take the medicine properly (0) ool MHet 58S dgsh= A

(d) To warn about the side effects of the medicine (d) erol Ext=0f| chslf Hask= A

[ai&] QAT SIS0 2o BAEs 2|1, 0140] US Al MFHs 22t= L8S| HX|0|C), a commonly prescribed ~ side
effects2 EH Somnixehs 20 2X20| 20| YA RUCHE AS L 4 o, Thus, | caution ~ these side effectsof A=
AL HXIE & S80| EX80| U= =l et gEots AYUS & 4 ok metd FE2 (d)olH, 2xi7t

Siols

AS Aol MYS HI0 EChs UER A2
2
g

2|l prescribe X5ttt side effect £k

disturbing 0142 F= 5452l pose Op7l6ict hazard 9/& urge FHsict Z=xsict
medication ©f refrain from ~2 &7iCt prescription M

)
ol

22 According to a recent study, young children are more successful in -Hs| 22 22 1
school when they have teachers who are specially trained in AR} 87| §F OtsE2] St 2N gSHo|ct &
childhood development. Researchers followed the progress of two RS HY StuoA £ ZE s RIXMTE BHE
groups of students in several schools—one group taught by someone =0 8 2GS 0Fs 22 SIQIZ 7171 WAL A| HIS
with a degree in childhood development, and the other taught by a 1 CE Z2 [12 UeH HiES 712 mAL|A| biRICt
teacher with a different educational background. Teachers with feth Pl SIRIE JHRl mAR= 01019 mEX @
development-related degrees, it seemed, were better able to ZUME HSIC) WSt 010k M
understand children’s educational needs. While this may seem ZSetm WAA & 7I2X17] ¢
obvious, it has never been a written requirement that elementary ol Ol Al2lste BRE Hg ZAMoz Q7 AL
school teachers study child psychology to aid in their teaching. = ST giRict
Q: What is the main idea of the article? Q: &l 7IAtS] FH=?

(a) Elementary teachers should be equipped with specialized (a) =S8tw MMHES EHS XA 251 0o}
knowledge. i,

(b) Teachers with child development degrees are more helpful to | (b) 05 2 22 SIQ7} Qe WAKE Of0IS0A =2
children. ol =t

(c) Teachers who study child psychology understand children (c) Ot Al2|ate Z2st= WAt ols2 o & 0fs
better. i,

(d) Knowledge about child psychology is more important than (d) OF= Alz|stof CHEE X|Al0| 71 AYELCH O BR3lCt

long experience.

[BH4] Otz Y o SIS 71T wAt ofolS2el wsX HWRE o & oeditl= A ZuE deid= 7IAf0ICh According to a
recent study, ~ in childhood developmentE HH 7|Afe] Z=H|7F MA|Z QS
children’s educational needsoil= AS! AT LIEHLL QICt w2k (0)7F B0l
= QEoIC) M8 XAl= ots dalstof thst X|Alo] ofL|et ofs & skef o =

S U

O, Teachers with development-related ~

XA ZES Bl LS glonz (d)

g 951 9looz (o= gol B 4 8.
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Different cultures have different views on what beverages are
appropriate for teenagers. In America, it is rare to see a teenager
enjoying a glass of wine at the dinner table, and ©Americans are
very strict when it comes to young people consuming alcohol.
However, this is not the case in many European cultures, which
have a much more relaxed attitude towards teenagers’ drinking.
©Interestingly enough, young Americans have a higher rate of
binge drinking and other alcohol-related problems than young
people in European countries.

Q: Which of the following is correct according to the passage?

(a) Europeans have strict standards about young people
drinking alcohol.

(b) It is common for American teenagers to be allowed wine at
dinner.

(c) It seems strict rules have created drinking problems for
some young Americans.

(d) European cultures prefer drinking at an early age under
adult guidance.
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[Bid]  REECH 0l=20| HAE S0l O 2=t MHE Jist
Interestingly enough, young Americans ~ young people in European countriesE EH &
oM FAE S5 A7t o dsith=s Aol xiojUC= WE0IEE, (0)7F FEol . (a), (b)
0|, 0iES2| X|=5lof SFE Sl=XI K= LIRX| ZeE2 (d= 2EO|C

[01Z]]  appropriate XZst %32 consume AH[SICH binge 28, 2IE DtAIEZ

If you worry about flower arrangements for your special events,
here is good news. Bloom Florists specializes in decorating
spaces for your party, weddings, or other special occasions.
We understand shopping around for the perfect flowers can be
exhausting enough, but decorating for a major event is even
more daunting. ©That is why we also offer the services of a
decorating consultant with every purchase of flowers exceeding
$250. Let our expert designers do the work for you, from
arranging flowers to decorating for your event, and you will be
glad you called Bloom.

Q: Which of the following is correct according to the
advertisement?

(a) The shop helps to plan parties and weddings.

(b) Customers should visit the shop to make an order.

(c) Purchases higher than $250 include consulting service.

(d) Customers should choose what kinds of flowers to use for
their events.

[BlE]  AES Qe 2 Al tdeix= 459 guo|ct
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If you think you could be a better listener, here are some tips
for you. First, be an active listener, not a passive one. People
want evidence that you hear what they are saying, and you
should provide this by summarizing the speaker’s points and
asking questions. Second, listen for more than what the
person is telling you. There may be a hint of sadness or
anxiety in the speaker’s voice, and addressing these feelings
will mean a lot to the speaker. Finally, ®take your time to think
about how you will respond after listening to people. In doing
s0, you will be able to form a more thoughtful response later.

Q: Which of the following is correct according to the passage? Q: ¢ 29| Wan &

(a) Paying attention to the speaker’s gesture is important. (a) Ust= Altol Sxiof| ZO|E 7|20l A EQ8iCt
(b) Putting off a response can make you a considerate listener. (b) HIES =A| 6 GBS Al A E= Ao =
(c) Asking questions is considered impolite when listening to £ Qloh
others. (c) CIE A9 Y2 52 1 HR2E ol A2 Rttt
(d) Speakers might feel uncomfortable when their hidden 1 O474RIct
mood is revealed. (d) Yot= A2 359 £747 20| SR 2Hsg
L S Qo
[6H4] CIE Al 22 AFE 4 Qe A0| Tl giEE 2= 20|Ct take your time to think ~ a more thoughtful response
laterS EH AlZHS 2t LEl BI3S ol 20| O 22 SEHE 2 = Ubie US0| L2t ALBE (o)7+ FEHO0| Eoh Hild
Xlofl chet =2 SICBR (@)= RYEO0IH, CHE Al 2E S0 HES oh= MIAQ! FFAUt Hete 20| JLBE (o=
21 BiiEl= Zolch E2ilts ZEe YolsH Yote MR £ & e U80] /eBz (dE QEOIC,
O oo

[012]]  passive #5X2! address sttt respond CHESICE BHS

Ho|ct response CiE, #&

1l

put off 0|2Ct considerate Al2i 22 reveal =2iUict

pay attention to ~0f FeIs 7|go|ct

26 These days, with so many big box stores selling furniture, it's RES Y0 B2 Y FuoFlM 7S 27| i
hard to find the personal shopping experience that a small ol 22 717t MEsh= JHRIFRl AT ABIS 517171 of
store can provide. At Home Advantage Furniture, we pride &L Home Advantage Furniture= AHEAZEAE
ourselves on being family owned and operated for over fifty 50 ol U7IE0| A%/ HHSIUEUICE @H5[2] 7=
years. @Our furniture is handmade by the very same sales FAI0] TAIFOIA BHb= Hi2 O XJAS0| &4 B Tt
associates that you will meet on our showroom floor. The SRILCEH N3] AEol ZAS st RIS 12 M|
quality of our wares is unmatched anywhere, as is our warm, AR Eto] 52 25{8UC Home AdvantageS 3t
friendly customer service. People who shop at Home 0l|g5tA B2 mAMol n7ho| U CH Nas ZAS T
Advantage become lifelong customers. We look forward to o mZHoz BA|T AlELCH

making you a lifelong customer as well.

Q: Which of the following is correct about the shop according Q: ¢
to the advertisement?

@) 1 d82 2 JEoIM o= Au diet 7 o J
(a) The shop sells similar furniture to big stores at a lower 2 JtzHo=z mhofsict

price. (b) 71 H4EE2 504 0]
(b) The shop has imported furniture for more than fifty years. 2 adEe 3
(c) The shop offers discounts for lifelong customers. (d) 21 715 s

(d) The family serves customers and makes the furniture as
well.

[3f4] 7(=0| 2™ 7112 s 9s6t= 71t Ao &10|ct Our furniture is handmade ~ our showroom floors EH 714

AZolA DHES Sticks ARE0] 7I7E 2 BEfe WS & 4 ACL W2t 7150]
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In 1831, Charles Darwin set sail for a journey around the globe,
which would ultimately result in his theory of natural selection.
@Of the amazing natural phenomena he witnessed during the
voyage, his observation of small finches in South America most
impacted his studies. Darwin observed that there were different
species of finches which were unique to their individual
habitats. These species contained important variations in
physical features that gave them special advantages in their
environment. “Such a revelation set the spark for Darwin to
discover a new theory about the origins of species.

Q: Which of the following is correct according to the passage?

183101l ZHA CH (Charles Darwin)& MIZAI 0643 %*EON

SHEM, 2= 0] oF2 19| X M} 4E) ol
AT, el & =48 =22 A el 72 gotdE \
7ol 22 ARl EXR(=MF)C 2ol 9] St ZEH
SLE of9ln) CHE2 JHE MAK(ol mat =58t M2 T2
SO WR7F ACH= A HEC, 0|5 2 25 E0IM
Sg5| Relohl 2E8stz Yl SRE Has Xuu
UAACE, o[ ol wHoR T2 FO| 710l et A
22 0l2S ¢dg =+ AU

(a) Darwin discovered many new species through the journey.  (a) CII2 0f3 & 2 M2 &2 LUGIQICt
(b) The finches were the same across different habitats. (b) EXl= MAIX|7} Dete 25 £
(c) The finches lived together in the same habitat. () Txl= 2+ MAIX[0f S| At
(d) The idea of natural selection began with observing finches. = (d) Zixt AiZof| cifst £A2 XIS ZHEGIHAM ARIEIUCH
[aH&] o] éoéH ELF ZXE AEO| HAlg UzAom, oo et Lo HI2 TRIZE MAXOt 2t7| Cig EFE BUchk= ol
M HIR3ICH= LHEO0ICH Such a revelation set the spark ~ the origin of speciesE 22 TMFES ZHESH 2t 59| 718, =

ZXF ME0| Cfsh E0| Zstettte o] 2 ggs ?
&0(7] wi2of gol & 4 gt

set sail Z8lsict
habitat MA/X|

ultimately 2342 phenomena i
revelation 55519 A At

@Richard Wright's 1940 novel Native Son is a great work of
literature that addresses the difficulties faced by black people
in America many decades ago. The story follows a poor
African-American as he tries to improve his station in life, only
to commit fatal mistakes, and even horrible crimes, in the
process. The point is that African-Americans of the time were
born into a society that expected just this kind of “savage”
behavior from them. Such expectations, Wright argued, had a
negative effect on the culture, convincing African-Americans
that they had little choice in life than to become what society
perceived them to be.

Q: Which of the following is correct according to the passage?

(a) Wright wrote Native Son to address racial problems in
society.

(b) The story touches on the slavery of African-Americans.

(c) Native Son was written by a poor African-American writer.

(d) High social expectations helped African-Americans
succeed in the 1940s.
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When it comes to finding life on other planets, no celestial OHE didollM MHES = 2H0 U o TX= Ed2
body is as fascinating to astronomers as Saturn’s moon Titan. M0l EfO[EH(Titan)2HE MISIXIE i2AIZ = gk
One of several moons orbiting Saturn, Titan is known for ENo|| D2l 9ME 7120 BHLIQI EO|Et @MTH0| TS0
@having characteristics similar to a young Earth, which could El 4 Qlojnd x7| K| Qb H|ASt EXZ IRl Zloz U
make it possible for life to evolve there. Experiments on Earth 4 QlCt XIFolAel Asie 285t S71S0| EFO[E| EXH
suggest that enough organic material exists on Titan to set in gt 4 Qlof XA ot 2Dt bIxEt et ZigE Y
motion a chemical evolution similar to what happened on ozl 4 Ql22 AIASICE 0l23] IFSIRIES EfOIEN| 20|
Earth. In addition, scientists believe that there could be water QIS Zdoj2tn Y= ofot LU= XIFOA 4~ 0FY of2f
on Titan, possibly trapped miles beneath its frozen surface. ZEQU2 Zo|ct @0 HICIS = 36te] ZA0|ZIX|TH A
@While conditions in these “oceans” would be extreme, it is S E1 US JisAo| o,
possible that life could take hold there.
Q: Which of the following is correct according to the passage? Q: ¢ 29| W1} Ux|sl= A7
(a) The organic material on Titan is different from Earth’s. (a) Efo|Ete] R7| RIS X|7Lo| Zi1} Ci2C),
(b) Saturn could have water beneath its surface. () EAE X|7 Of2ff E2 ERatu QU2 Aolct
(c) Frozen water on Titan is an obstacle to making life forms. (c) EIOJErS] H2e MEHFE D= o ZofE0]Ct
(d) Titan has conditions that could some day yield life. (d) EfOIER2 ke YEHME SO +~ Us SES
21 Ch
[BH4]  Eo & 7124l stt2l EtO[EH| M7 e 7HsNE 0[0f7|5t Q= Z0ICt having characteristics ~ life to evolve there
£ Sall EfO[E0] XI7e Hl=et &0|7| mzol HEATE AL & ATs AS & 4 AW, While conditions in these ~
take hold there0ll= S0IlM X7} MAS 4 UCh= 7Hs40] L2CE Mt (d)7F FEOIH, (@)= 22 a1t Bitiel= 40|
o, X|& offio] 22 ERatn U= A2 EH0| OfL|2f EIO|E0|ER (b)= REOICE
[012]]  celestial body Z&l fascinating 20122 moon 24 evolve (5412 S0)) Zlsfsict  organic 719!
set in motion ~5t7| AIRfSiCH trap 7t5CH  take hold &efsict obstacle Zoff  yield AMatsict PHS0 LiCH
30 In recent times, it has been a common occurrence for CEOs z2 Fe 280t 7ol 2 nAGXIS0| ZAl 270l lof
of major banks and corporations to apologize to the public for KhAlo] Astof| Chall CHEOIA Atolshs Z7t BIHHE] AU
their role in the economic crisis. However, the blame placed Cf 2Lt of 7ol et 2 ndSXk= H|toh= A2 A
on CEOs for the crisis may not be entirely fair. While it is true Aoz ZAGHK| ULt FTZBRI= FALS| HMEHE Ao
that CEOs should have the utmost knowledge of their CYSt £|mo| XAl JHMOIRE BIX|PH OS|AE Maroz &
companies’ overall operations, ©it is still the responsibility of 5H= ZH 2E2o| MIMEH 220 thEt Bals JH7He] 180
individual employees to manage the fine details that are a O A= A 22l Qlct A DAEXe| &S 2 ZSo]
part of running a successful company. The responsibilities of M BE M2 ARE CE 4 ofm, 9F[ 20| Zx| 277 &
any CEO are simply too broad to include all of the details, and = 45t | thsl| 5HF ZUXIF S0 Z2 HUS L0 Mo}
©@lower management should share more responsibility for Stk
allowing some of the recent economic crisis to happen.
Q: Which of the following is correct according to the passage? Q: ¢ 29 W2t Uxsts A7
(a) The economic crisis was caused by the laziness of (@) ZH 7l= 22XE2| EfRto2 Qs Aoii,
employees. (b) 2 nFSXt= 22XES Beloh= ol O MFHe! A
(b) CEOs should take a more active role in managing S ofiof Stk
employees. (c) 22AE2 0l He ZX| f171of 2ol RACk
(c) Employees are responsible for the economic crisis to (d) 2 DHSX= MEHR! AtStO| T2 |7IK| R0t STt

some extent.

(d) CEOs’ responsibilities should include managing details.
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to happens 29 ot 49 ¢
@ Otlet ZAEXe] AR QIS L8 Z (a)= ©ol 2 4~ ik
[013]]  occurrence A4 2 blame 5t 22! fine olMst responsibility 22!

AB8  Answer key
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Ct lower management should share some responsibility for allowing some of the recent economic crisis
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The idea of having holidays to honor the armed forces of past
wars is a controversial issue in America. War is a violent and
bloody affair, one that many people think is unnecessary in
today’s civilized age. @Therefore, it seems understandable that

Rk 1A o] IS 7Iists B et M2
D[RO 30| g2t 0140t} ZAS Z2ixo|n 1
HIBIL L= 2=, g2 Aol Bitiel 2 z

>
o
un A
fu

njo

some people would regard celebration of the armed forces as a TS Fofsh= i 2t5k= Zie U7 Erdst
means of glorifying war. Holidays such as V-E Day, which Cf 5Y UXIE 2ME 0|=elg 7|dsls fExs7Id
celebrates the American victory over Nazi Germany, are 2 (V-E Day) Z2 8522 MUS Hitist= AIEMA

especially controversial for those who oppose war. On the
other hand, Memorial Day causes less controversy, as it is a (Memorial Day)= =2t0| & |, &
time for honoring individuals who lost their lives in battle.

o o xo=|l—
U2 Hels F2ot= €

Q: Which of the following is correct according to the passage? Q: ¢ 29 wgat Axlsh=s H2?

(a) Some people have moral objections to military holidays. (@) Ol AIRFEE 2 719 FY0l ==Xe= BiiBict

(b) Memorial Day is welcomed even by anti-war activists. (b) TSEY F2U2 BN SIIS0I7 &F gh=Ct

(c) V-E Day honors soldiers who died in battles up until now. (c) SBXL7|HUS SMIIX| 2T & AlYet HHES
2

(d) The public agrees that holidays should not

2 BRI FUS JRls 2Rt 012
glorifying waroi| LI2I2IS O ASS 2
o 4 Uk Ol EEE Brijer Belo| s

2 o A=
SIth= Li80| /le8z (b= 2E0IH, (o=

honor acts of war. 7|2t

M =2t AH2|7t gl Qo= 20lCt Therefore, it seems understandable ~ of
o] 252 7I2l= A0l TS nlsfsk= A®lol7] w=zol OIS Hitieitt= AtdE
2o|= i( )74 E0| ElCh MEYY FRUE2 Ui oAlg TR AIHS0| Sof Bl
HEYY 2ol oiet Aol

[0{2]]  armed force Zti bloody affair 28 Alef  civilized 23t regard A as B AS Bzt o7|ct  glorify Disfsict 2ttsict
anti-war activist 2% 257+ act of war T &¢|

With the end of World War Il came an increase in comic book 2AF MAICHEO] LR Bretal Aidiap AH|7F S715I%=

production and consumption, with the leading genre of comics ol 2tstol M= M2s= "ot & olofr|ich H2 &

being crime and detective stories. Many religious groups and WEARE AR et Z24x0]T ARl LHEO|

civil organizations believed that the violent and sexual contents FHAE HRS Fefdictn UQUCt 0 An Hes AA

of the comic books were contributing to bad behavior in young SHX| 242 UEE Hightes MYAo| AHS 7Rl

people. ©As a result, the government pressured the industry to 1954\ Pt (Comic Book Code)0| Ehel3ict, ot

limit inappropriate content, and thus the Comic Book Code of st O OA HAXIE S9H0I AlZte2 ChEALt 32

1954 was born. Comics were no longer allowed to present S 5o I8 4 giRia, Mol &2 o7l A 012

criminals in a sympathetic way, to make government officials o ZE2 of2UIX| LRUACE

appear incompetent, and have any ending besides good

triumphing over evil.

Q: Which of the following is correct according to the passage? Q: ¢ 29 gn x|t 712?

(a) Young people were not allowed to read comics with sexual (a) HHS0| M& LIK0| H7I DEle o= Zie 2X|
content. AL

(b) The comics following the Comic Book Code included (b) 2HapH HotE M2E WSS Z2XN 188 E1
violent content. UAAULH

(c) The Comic Book Code censored the content of comics. (c) DI HoF2 Oigtaol LIRS L]

(d) The Comic Book Code banned detective stories. (d) BFIR Hote EFM 0[0F7 |2 SX(RHCH

[aH&] 2Rt &
3 Hoig Bsof pelgl Ligs
Code of 1954 was borng EH
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f. As a result, the government pressured ~ the Comic Book
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SRS LS80 YZS 7oty flall RratA oks BEEQICh=E LHE0| Liet JeBZ ()7t |
Eo|oh 84X LE0ILt EF 0[0F7|2 SXICh= a2 GeBR (a), (d= ol 2 # glen, ()= 21t Biti=l= WEolck
[012]]  consumption (&&2) 4H| civil organization Al2! Tt contribute to ~0i 7|0{SICH  inappropriate Rt
sympathetic 5&5t= incompetent 533 censor Zgasict
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As a membership service, @IntelliWeb hosting is required to 3I¥ MH|AS] Ystoz WZp0|RES) =
collect sensitive information from its clients and customers in ARl MHIAE HMBst7| flsl Inteliweb SAEE 712!
order to perform basic services. This personal data includes HEEZE 4o ok o] e MBE 0|23 A,
identifying information that could reveal one’s name, address, Az B S2 Yole FEE HeRiLct oz
accounts, gender, race, and more. We assure you that this He UWEX Z2xozot A28 HE§LUCH
information is used for internal purposes only. IntelliWeb InteliWeb2 X3 €0l S22 Q= =0 3o
guarantees the safety and security of your personal data for as iRl HEol ofut Hotg A b =&iLct A 3Xt
long as you remain registered with our website. It will never be oA 2L 71X ke ZolH s8xez nzint
given or sold to third parties or used for any other purpose than T YRS of= A 29 o™ SMo=2E AKX S
doing business directly with our customers in an efficient QYL

manner.

Q: Which is correct about the company according to the passage? Q: 9 Zo| 3|Alof| CHBH 2T U|sH= 2HS?

(a) It tries to improve the security of personal data. (a) 712! FHO| Bots Jiiidei T it

(b) It specializes in collecting and protecting personal data. (b) 72! HEE 2oy BSsh= O T=Z0]C
(c) It cannot guarantee the safety of personal data. (c) 7! HEQ| oiNig BHGIX= RaiCh
(d) It requires users to submit personal data. (d) AFBRIS0] 7He! HEE MiEsi== QFsitt

[H&]  CiYst MHIA0 0|28 2Xoz 19 HEE £2I6t0Xt st 8t S|Ate] ZX|0|Ct InteliWeb hosting is ~ to perform basic
servicesE EH 712X MHIAE MSat7| i T2 it ME = 70l FEE £3sH0F Sitte LSO LiRles
2 (d)7t Aol Eck,

[012]]  identify (AS) Yot=ct 2RlGICH account 71 assure Mgsich internal LH2Q| as long as ~at7 |2t 5HH
register 7ieJsict S=aict  efficient 58201 submit XEaict

34 Scientists have believed that two species competing for the USRES L2 MRS =1 ok & E2 &2 M
same resources cannot coexist in the same habitat. While this AIXOIA 228 4 QIct UYUCH YA 2Z=SER(DE
seems to be reasonable, experiments conducted with flour WIF HEHLYE e F o J Set &gt HE2
beetles over the past decade are challenging this notion. The 02 Miziof| 9|22 AM|7[SHC} 0| mE2H AFMA &
study suggested that, in fact, fighting between two competing et T B M2 20| 25 == ZUE LXK
species does not have to result in one of them dying out. ®In the = Qt=Ctm Bt @ASO|A LUJ|2 EE2y| 212l0] 2
experiment, each species of flour beetle fed on the other 2 Z2 91 4ok J2iut XAl ARy Z5¢lo] 2
species. However, the need for a constant food source kept the Q57| W20l YYHSS CHE YyHE MPAI7IX]
beetles from killing off the other beetles completely. = od=Ct
Q: What can be inferred from the passage? Q: ¢ 20| F2E 2 Q= 7127
(a) The beetles keep other beetles alive as their food source. (a) HHHYSS 12 THHE SA| Z2R0E AR
(b) Different species of flour beetles cannot coexist. ot7| ffel AeEr
(c) Two similar species sharing the same resources cannot (o) CI2 ER0| W= ZES 4 Ct

coexist. c) 22 24 SE8E 3Role F MY HIRE &2
(d) Flour beetles thrive in an environment of competition. s&g -+ gl
(d) =Eel= o= 2HE0IM BAEiTt
Bl & BF9 HE 80| 3EY 4+ Sith= 71ES HAI2 7, o™ HAollM F &0| MERE SA SZSE 0[&317| et LF
HMEE AMYHELCHE {29 Adg CfE 20|Ch In the experiment, each species ~ from killing off the other beetles
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Christmas Eve is the most exciting night of the year for most
children, and | was no exception. | went to bed dreaming of a
visit from Santa Claus and what kinds of presents might be
awaiting me when | awoke in the morning. ©With all this
anticipation, sleeping was often difficult if not impossible for my
childhood self, and | most often ended up tossing and turning in
bed until the early hours of the morning. As | grew older and
learned the truth about Santa Claus, | convinced my parents to
let me open gifts on Christmas Eve instead of in the morning,
©@so that | could finally have a happy and restful night’s sleep!

Q: Which of the following would the writer most likely agree
with?

(a) Itis better to receive gifts on Christmas morning.

(b) Staying up late is part of the pleasure children experience on
Christmas.

(c) The anticipation on Christmas Eve can sometimes be tiring
and unpleasant.

(d) Children should learn patience through receiving Christmas
presents as late as possible.

[614] BRIt RS 1 AZA0IA MBS WS Jliol WS 2 OIEE Fm,
B W) 98 HRYS BT X

Although they have something in common when it comes to
computers, Microsoft founder Bill Gates and Apple executive
Steve Jobs have different approaches to reaching their
customers. Steve Jobs is as much a mascot of Apple as he is
the leader. With his black turtleneck, blue jeans, and sneakers,
he has made audiences wild with enthusiasm with his inspiring
speeches. Gates, on the other hand, does not possess the same
charisma as his longtime competitor. ®He is known to quote
statistics and use complicated terms in his public speeches,
which has made him a far less iconic public figure than Jobs.

Q: What can be inferred from the passage?

(a) Gates is far less able than Jobs at marketing.

(b) Gates’ speeches are harder to understand than Jobs’.

(c) Gates is more popular than Jobs among the public.

(d) Gates and Jobs are both among the best public speakers.
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In the United States, there is often a clear separation of powers
between the federal government and the state governments.
@This was important to the founding fathers because they
feared having too strong a federal government might lead
America toward a monarchy, which they had fought to escape.
The sovereignty of the people was of utmost importance when
establishing the new government, and giving power to local
governments was one way to preserve the people’s power. Of
course, there was still the need for a strong federal government
under which Americans could be unified, but the Constitution
made sure that the states had rights that the federal
government could not take away.

Q: What can be inferred from the passage?

(a) America had previously been under a kind of dictatorship.

(b) The state governments possess stronger power than the
federal government does.

(c) The founding fathers were not concerned with a united

America.
(d) America puts more importance on unification than
individuality.
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unify Sgfeitt take away glofict  dictatorship Sxifg® =xi  unification ©sl £2f individuality 7!

[Part IIl]
38 Au Naturale body lotion is guaranteed to nourish your skin
while never irritating it, because it contains only the most
natural ingredients. (a) Unlike other lotions that rely on
manmade chemicals to moisturize skin, Au Naturale is a purely
organic lotion made from wild plants and herbs. (b) Containing
such soothing agents as aloe and fruit oils, Au Naturale will
leave your skin feeling refreshed. (c) Organic lotions are shown
to be more popular than other lotions, despite a higher price.
(d) Without any of the chemical irritants found in other lotions,
Au Naturale works on even the most sensitive skin.

soothing 2EAI7I= agent 2% irritant X5

ASZ  Answer key

242 Fuske 20tk (a), (b), (d= =2F 0] 2Ho] tiet FEE E7ste =F0Ixet
Tl 22t O HMthE 80|22 X 42 249 FFE 0Esk=
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During the 1970s, “backmasking” began raising concerns 1970 ol HotAZi(backmasking) & S (et S
among religious and parental groups, who feared teens were 2o oHe f212 DX AR, 252 S0 &2 0l
being influenced by hidden messages in music. (a) Basically, ARIZE 10CHE0HAH FEE 7IxlE Zg FHYCL ()
backmasking consisted of a spoken message that was 7\5&9?_ “HEI)-/\9|° 2 FZ9] XMHo| HE ARz
played backward beneath the music of a rock song. (b) =2|H Szl HAXIPE E0QUCks Zolc) (b) 252
Parents worried that these hidden messages about drugs or opefo|y ﬁa% CHE ol &2 OIAIXIZH 100iS0] |
violence were driving teenagers to commit dangerous acts. of H=ES SIEE EEoMtn 283Mct () Z2iLt ot
(c) However, studies on backmasking soon revealed that AZlof| oist SHRE AR UE U2 FEXIt olalst
backwards speech was nearly impossible for the listener to = A0l Aol g7iss6ltie AS g5 Wiot (d) b= o
understand. (d) Even though backmasking did not have OAZI0| E= ARZIOIA BRAQI Feke 0|X|IX| Y=Ct
negative effects on listeners, heavy metal bands that used S HOAZS ARSHE SHIHE Sies HEojol
backmasking in their music could cause hearing loss. #elol g 4 QlC,
[BH4] S HoIZ 52 M gefnt B2 SUS o SAT HAXZE 20t defx] Qb= diotA ol et tEolCt (a)= BiokA
Zoil thet 7HES, (b)= BiorAZo] ofo|Soi7l 0jE s 2250| AHeith= &S, (o= ol2itt A4yS & et gith=
AMES ZiZF o[op7[5taL UeLt (d)= HHntAZS A M= ofH|oE YHES| S0 T &45 NS o Uch= WEoloh o
2hA LIHX] 220 2#20] gl 0l0k7|S ot = (d)7F HEoIC
[0f2]]  parental £=° backmasking ={0tAZ! (A0l XA Gisknt 2 A2|S =Sst= 7[E)  drive to ~2 Sopict
hearing loss &= A4
To all passengers on the Old Port Ferry, we regret to inform Old Port Ferrye| B& S SAAE|E 02 25
you that the ferry will cease operations at the end of the B ofZiMol of o4 2Em|X| LSS Y=ELCE ()
month. (a) The number of passengers commuting by ferry 6712 © M Port BridgeZt 7HEE 0l O{ZiME 0|&
has decreased dramatically since the building of the new Port = &l E2st= 4249 471 25| ZAE&LCE (b) Port

Bridge six months ago. (b) The Port Bridge was built to offer
commuters a quicker route by car across the water, with the

growing number of people using the bridge. (c) Government
funding for the operation of the Old Port Ferry has also been
steadily decreasing. (d) As a result, the Old Port Ferry can no
longer afford to operate, and regular passengers are advised
to make other arrangements for future travel.

1] ofZiMol Reig ol & 22 &
AesZ oM 2 SOl fQlS 0/0k7I5
[05]]  cease &HAPZICI commute E2siCt dramatically 226l

make an arrangement &H|S siC|

o=z FHeith= WESl SXoIt. (o)

F CHAof Cifsh S1sk=

steadi

Bridge= Cl2|E 0|&dt= Al o =
S Hde o W2 48 S2EAoA MIstuxt AN
&L () Old Port Ferry 2dg X|fol= 8 712
5t pEs| dAasigtELCt (d) 2 23 Old Port Ferry=

oly 2&at7(7t of2iRH, F7| $Z7M= 01F9 0
&£ djo

orS ZTStAIZ| HEZLICE

= P
=

8ol L2 Port Bridge| ZHoi| Chsll 0[0F7 |5k
Xl 2% (@), (©), (d) & FH*t S S| Ye=Ch
ly &35l be advised to ~st== = 2t
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Actual Test 2

1.(c) 2.()  3.(d 4. (c) 5( 6.(d) 7.() 8() 9.(d) 10.(a)
11.(a) 12.(b) 13.(d) 14.(b) 15.(a) 16.(@) 17.(c) 18.(d) 19.(c)  20.(b)
21.(a) 22.(d) 23.(c) 24.(b) 25.(d) 26.(b) 27.(c) 28.(a) 29.(b)  30.(d)
31.(d) 32.(c) 33.() 34.() 35.() 36.() 37.(b) 38.() 39.(b) 40.(d)

[Part 1] p.156
1 As the developed world continues to debate on how to solve the | AMZIZ0| AlgF HE AEIS O{EH| sHZBSX|0f et =
food shortage crisis, it might help to look at the root causes. O| ALEHM, I ZE 2012 Folof 20| EX|=
The rise in oil prices is one contributing factor, making shipping HE0 Q7F 450] ot ool Alak 24|17t 2247t
of food more expensive and thus driving up the price of food. 0 Z= AR JHH0| @27 Eo HSgtet O #
Another popularly accepted cause is major droughts in some of Q2 Zth U A FTe HAet ViEeR, 53 M
the world’s topmost wheat-producing nations, lowering the crop 0] &1 9A| 7tH0| H&eitt SolHnie 2 2ol
yield and again raising prices. On top of all that, the biggest Ofote MZI=9| Hio|2 A= i Ziolc) el =
contributor is perhaps the development of biofuels in developed AlS OfEfZ MAt| AtREICRN BERE L2tE2

nations. By devoting large amounts of corn to making ethanol,
the rich countries

(a) make the price of ethanol rise (

(b) waste money that could be spent on food (b) A2
(
(

of 2 4 A= =2 SHIBITH
(c) offer less food to the rest of the world |

(d) are developing technologies for food aid

e
1
[

g 2 7[o HRlo] RI 45, o U Mt Ligte] 7tE, MZI=9| Hio|2 HE i, o] M| ZEX[of QACh= LiES| 20|ct,

7oz 2Rt L2ts0| S22 OE2S Ues ol 48 Al MU= 2t S0i710k

0| Al Zg0| 282 E0EA H22 (o)7t MFolth, =2 dHlske 40| ofat Alg 1 XHIE A= o] 4= Ziol=
2 (b)= 20

[012]]  factor 24 drive up (27t 52) W27 Boi=alct drought 7k2  crop yield X2 £22f contributor &9/ xiSxt
devote A to B ~g ~of HIXICt £t aid XA

[
-
A

&

ct

2 Both China and Japan have risen to become two of the world’s Z30} YRS Y2 x|t of
preeminent economic nations, though = 25 MANcz ZEst ZH ti=ez JYsiUt
While Japan seemed to believe that Western values were UZS M7 Jkx[7} 2riEto| Lesittn URE i
needed for modernization, China managed to find a middle 232 MER JIR|E HE MES 0|8 & Qohs Al
way, by which traditional values could also lead to rapid o =m0l QAS Fgirt ZAUEOR YRS 25tH
development. As a result, Japan has become alienated fromthe = oz opijofel C}2 Lel22E AQEQoL =2
rest of Asia culturally, while China has maintained good HIED ES A2 SX[skn QUL 0t22] U=

relations with its surrounding nations. Additionally, as Japan’s A
fortunes have risen and fallen along with the West’s, China has = gz goirt
remained a growing star on the international stage.

(a) each nation took different paths to get there (@) 230 === o 2t Ligt} o2 A el
(b) they had different industrial environments (b) 2S0| C}2 A SAHS J1X|T YUY

(c) Japan had wider international relations (©) Y=20| ZHE AP o S

(d) there are subtle differences between them (d) & Lt2t Ztol ofz= =2 xto|™o| YU

i}

[aH&]

i

>
a8
=2
JLE et

ot QEETH =2 MEjolM X UiZe2 dEden, 22 &5 FMS Eielf otAotel i Lelsu 22 #
EXoz MERICH= LR9l 20ICt While Japan seemed ~ find a middle wayOij A= L= A{Qf
=2 MEX JIX|E itk 48 & 4 len, Additionally, as Japan’s fortunes ~ on the international stageE =™

10 rlo
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U2 MUl Mof AX|RX|El= BIH S22 2ZX| Cts 0| Lh2CH =1t 50| Agstof o|2= 2PYo| X0|HE ]
wal ooz ©@e (a)7t =ik

preeminent 3ixi& Fo{-f modernization Zthst middle way £= alienate Z2|A7Ict path @2 subtle o=t

are carried out fairly often by the U.S. = 0|2 shZoA OHR Xt
Navy, which provides the ceremony to their former members Ql= ol o SX|Q] QF| Lt oAl HillsH=
upon their request. During the burial ceremony, the ship is Z40|ct, & oAl S0t b= siQtollAl 301 LHX| 30
brought to a complete stop anywhere from three to 30 miles from Of ALO|Of A 2HF1E| THACE Hijo] Zlgte =S xiof
the shore. The ship’s flags are lowered to half-mast as a show of thst Zolo] EA|Z HHE Li2{RIct 2AL9| 7|27t &
respect for the deceased person. After prayers are said by the LIH 22 A S0i22 HICH2 HASS|) 91 A
chaplain, the coffin is lifted slightly so that it slides into the ocean, = o ZXZ A0} S2ICt 0| 7I2fto ™ AfZiE A
and a firing party fires three shots into the air. Loved ones throw 2I=0| dictol| 2 E
flowers into the ocean after the sinking coffin as a trumpet player AATS AZXSICE 0 QAIS H 1F =0t O] HHYX|
plays the traditional funeral song. The ceremony has rarely Qrot=r| H1 21Tt XifeF 201 Atojof Follze ME
changed over the years, making it an honored tradition among oz xf2|ERLCH

veterans and servicemen.

(a) Funerals during war (a) 1% Al

(b) State funerals for soldiers (b) ZIES fIet FH(EED)
(c) Burials during sailing (¢

(d) Burials at sea for sailors (

0|20{A O|20{X[= 4Al0kZE)Ql IHEE HAlsH= 20|ct, During the burial ceremony, the ship is brought to a complete
stopO|L} the coffin is lifted ~ it slides into the ocean, Loved ones ~ the sinking coffin§& E™ HICIOA] 0|RHX|Z Q= &
A, & £ES TR0 UAtk= AS & 4 ACE metM (d)7F 5ol =0, &elf Soll 0iES k= 0] ofL2t siRtollM HiE SH

224 "ojaf IS BiCiD YOOR ()= 2FoIc),

[0{2]]  carry out ofgf5Iict  upon their request 230l @2t bring to a stop ~2 &t shore siet flag 21
half-mast (=25 LEILLY| 2I5h 87(44%) deceased AlLs chaplain At 2AF coffin & sink 712Iict  veteran &% At
serviceman =¢! state funeral =%
Computers are changing the future of the American economy, AEe= 0|2 gxel ol Esl
specifically when it comes to . Computers S BT QTh ABEHE E5| A4 H =0k HE=o
have been replacing human hands, especially in the M QB ChAIBIXIE QIE{HI0| AFREHAMEE 7|
manufacturing industry, for decades, but only since the Internet O Ao drAl: Hi5lE1| T|Qict HEEE MEC 1
came into use have they been altering the way companies are £O| &3 0122 Q=0 HHEE0| S£5 70| 7

managed. Computers demand that workers have a higher skill set o g SHAl
than ever before, as computer proficiency is key to getting almost 2 oe Al omyt
any job. And as in the manufacturing sector, many jobs no longer 0|AF AlZH0| ZRE}X|

. A2 NE SE3 ORE7E]
= S| mi2o o

o2 ejol L,

o 1=

require humans to carry them out, as many office practices are

now automated.

(a) hiring practices (@) e e
3 Pkl

(b) company policies (b) SIAF FA
10 517

(c) work environment (c) 22 &
(d) A3 #=

(d) social structure

[aH4]

BREZE MEel Ql2ls tidistn IEUlo] 2lAF 2F YA SS HHEA 0= ZH| #27t Hafeltt= W&ot Computers

have been ~ the manufacturing industry?} have they been altering ~ are managedS EH AF2AIQ| B2 AUS0| XHE3HEY
CHe AtME o 4 QlCh 0|2 Bt ZHER ol 71T 2 #aht 2 22 ARis9 22 #He ¢ 4 Aot

manufacturing =g come into use X0/ =lct alter BHCt proficiency 42, s5 sector £0f practice &%, 2
automated xisstE
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To Mr. Higgins:

My name is Tim Johnson, and | have recently applied for an
opening in your marketing department at ABD Publications.
Enclosed with this letter you will find my résumé, which | think
proves that | am just the right person to fill this position. |
currently hold an MBA degree from a top university, from which |
graduated at the top of my class. | also have invaluable
experience in the field of marketing and management, including
five years | spent managing a sales team at a local paper
company. Given my qualifications and personal preferences, |
believe

Sincerely,
Tim Johnson

(a) | deserve a higher salary than you offered

(b) I am qualified for the promotion to the position
(c) 1 am the ideal candidate for this job

(d) the job helped me in my career development

of FEXIZE ZAl0ll O[HME ELHHA XjU0f of 1 =[S0l =
am just the right person to fill this positonS &H 0| HEX
preferences Fof HI1Z0| O|{X|22, Q0f LISt =702 0
= Uigol Bizto] Soi7Iok &2 & 4 UCk

invaluable 0i? {5t

[aH&]

9
01

x515t
X|e
=
2

[o1&l] enclosed s&&

opening 34, Yxt2|
candidate (xt2|2) =t

When it comes to the translation of literary works, one of two
important factors often determines the outcome. These two
factors are fluency and fidelity. Fluency refers to the overall
beauty of the words themselves once translated, while fidelity
refers to whether or not the translation matches the original
text. It is the author’s choice how much importance to give
each of these factors, but often fluency has priority over fidelity.
The problem is that, while the work is made to be as beautiful
in the second language as it is in the original, it may lose some
of its meaning, leading to

(a) damaging the fluency of the original work

(b) less emotional and touching outcomes

(c) the loss of linguistic beauty of the original text
(d) a misunderstanding of the author’'s message

[BHd] 2t MES 2 Qo= ¢ o 22| A0XRl otECt2at &
QI0|N OISCIEE Aele Hol O 23S %F= vt e
0] FXRIZPE S0{7t0F it 10X OIECIB0| =EE HFH 27
2 g2 (d)7t Foh 22| olojel 2X|ofX| @A ZS0|Lt 240
0, @< ()= Bzt S0iZ LiEat Biti=l= 0]k

[012]]  literary works 25 %2 outcome Z1t fluency R&4 fidelity 54

touching Zs%2! misunderstanding 2at linguistic 1012
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Tim Johnson =&

(@) Xz ghlol Mot o =2 858 ¥e B ot
(o) X7t 2 QIRIZ &2 XtZo| Eotn

(c) M7t of Yofl ofalxel FEXtetn

(d) 2 ol M =S ol =20| Tt

O{Zsh= MX|0|ct which | think proves that |
f. Given my qualifications and personal
Xi2lof 74&F MESH AfZo|2t=

g HEe Mg ge

preference s

Zoh AF M0 A F IIX| 28 24 & St
ZUE 25T 0o & 2012 RYYL st &
Y g HAE YS9 THHR olgtEE JI=l7|
I g HYS0| #o| 2 HEXl oldXE iz
7ok 0] 245 & ol A2 o A AWi= Xt
o MEHOIX[RF BF RS0l Bogs duoh A=
HEOIMBF HANZE AF0| OFSCHE 4~ U=7!

dl, (2)2 X7l SR8t onls
=2 =

) ®x9| ¢lojx ol5TEY
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A710] HIAIX|off cHeh 23
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EMQE
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Green tea is widely recognized for having as many =Xt= Cf2 Xiof dlsh & Atsl2Xlo] Z25tn 7oL
antioxidants as other teas but with less caffeine. However, Mrio del LA ot 2Lt 2 O AL ofct, o
this may not necessarily be the case. Studies have ol 2H 7Rl S =XE UE Wl et
repeatedly shown that the level of caffeine can vary greatly if A RO7F U0l HE SRIECE TS0 M F 0
the tea is prepared differently. More specifically, green tea 22 =xt= XAof w2t A L Zdof s 7HmHQ! g
brewed up to three times was shown to have a higher 0| O =Cf thERQ =ii= oL RS E[He
concentration of caffeine than tea brewed once according to 2 0] e Moz
instructions. Since most green tea is mass produced in tea
bags to be brewed only once,
(a) the tea can have higher caffeine than usual () 2 xt= BARO O W 7HHRls eRd 4 QU
(b) this may account for its lower caffeine content (b) 7tm|2! etRE0l H2 0lRE 28al & 4 UM
(c) itis likely to have as much caffeine as other teas () CHE Aot Bt ol 7HHRlE BRstn 9IS A0l
(d) it is important to follow the instructions when making the (d) xS BS o HBME m2= 20| S2oftt
tea
[sH4]  ZH|et= gl Wa2tA =Xt 7Rl &Ff2f0| Cl2Cck= W2l 20|} More specifically, ~ according to instructions£ 2 H
=S o7 H LS IRl FR0| 0 YetHoz o= =it ot fU7| o 7ol SR Hesg ¢l
Zioll= HIZ 0] 0% WE0] =Xt 7tHQl SFR/Z0| Hot HQICk= 0| S0{7Iof it metM (b)7h 2ol = (a)= 0|24 B
= Uigolzz @Fo|ct
[012]]  recognize ¢Af5iCt antioxidant YRR vary Z2tXIct  specifically TAI%C= 2U5tH  brew (X12) 2o|ct, PHSCt
concentration = instruction 43Al account for ~2| 2l0] =t content &R
Between 1965 and 1975, America was in great political 196541t 19 folofl ol=2 &get HAIA =2Hol| bt
turmoil, much of it stemming from the country’s involvement =0, 22 ?%OI HES XA HIZEACt 0=
in the Vietnam War. The controversy surrounding the war ;O\ HOtsh Tof A Hej[ts Sof Mgl FMs XS
would perhaps not have been so great, except that for the SASIK| UQiCEiH FMAS St =S otote 12
first time Americans could see the effects of war from the CHEFSEA] 229f2 ZH0|Ch B AJZHHO| FAE XMANO| =3
comfort of their home, on television. The nightly news was full ol 0|0|X|2 7IE3i & J7|Kte] AAlZH HE=Tt 0o
of violent images from the battlefield, reported in real time ROk Olet £ TYol SRS =ZstRt Tol et o=
from journalists who were there. Seeing the horrors of war Q1o UHPHQI QIA0] BT OS2 HIEY T X0
like this did much to change Americans’ perceptions of war in COHA| off ZREHK| of2S ZiU| A|XRRICH EH|Fo| g
general, and they began to question the necessity of ever QiCHHA
going to war in Vietnam at all. Had it not been for television,
(a) Americans might not have protested the war that much (@) DI=RIS2 1 ool 1 =2 BIHSHR] 2RUS K=
(b) the journalists might have had a hard time writing stories Qe
(c) the controversy over the war could have been greater () 7IXEE 7IME S MERIE RED)
(d) the U.S. would not have been involved in the Vietnam (0 tds s =dol o 7ig Aolct
War (d) DI=0| HIEE HMoil AR=X| LUS AolCt
[sh&]  ol=ol HIEY Tof FTEIHAM 0] T Hao| HefH|Moz MMsH SAU=0, 0I5 Sall TS| FHels L7l & oj=2l
S0| MHof etiistHA HXIM =2t0] MZict= W&0|Ct The controversy surrounding ~ on televisions 2H ElH|Moz
CHAE] MK LAT2A 0] o 27 Bithi= SHX| ¥UAS 7Heh= 20| Li2C) giZHo| i@ =Y 02 22 UEos,
giZiol= Pai|u|To] AT Lofts Yot J&0| S07I0F oftt, et g2 ()7t =M, Z2i|H|T0| SACHH =2tr2|7}
23 O 2US AO0IBEZ (c)= 2E0ICt, o[0] HEF HMoi| HTiet = efH|Xg Sall T dads 2 & Aol2z ([d= 2
Eo|ct
[0{2]]  turmoil 22t stem from ~0lM 47LIct  involvement 0 controversy &2t nightly ofzte| ol st=  battlefield TIHE
real time &AIZt  perception 214/ question 0/9/E HM7[5iCt  protest gtcisiCt
Actual Test2 AS7



Dear Congresswoman, o] shEeldy st
I am a concerned student writing to you about the high cost of e =2 st sH|of st AMo=z s HX|IE &L
college tuition. With each passing year, | find it more difficult Ch SH7t 7HmEA| NEs5tez, st 542 o EX|
to raise the money necessary to pay for my yearly tuition, due SHIE e O 2Rt =2 He 20| o AEYY
to the steep rise in educational costs. In addition, a college O of22 gt 18e J0fYz MEDH ¥ SEFL
education simply isn’t worth as much as it used to be. Most CHEE ARS0| Y Al EH0|7| Yol CHEH0| ZIStaH
people must pursue graduate degrees to stand out when OF gLt DSWEo 2= vI2u SAX JIX| Afo]Q
looking for jobs. The gap between the cost and the real-life xfol= cr2 3710f Q&lof M CElof & o|AluL|ct U
value of higher education is an issue that your Congress 2N M= st cfstol] Mxte Jlel Hale =obs
needs to address during the next session. As legislators, | S5k Holefn YUSLCH AN e nE SHMES Al
believe you are the only ones who can help us put pressure 504 HEF et
on universities. On behalf of all concerned students, | ask you
Liam Pooley =&
Best Regards,
Liam Pooley
(a) to offer university students financial aid (@) CHeMYSOol7| S| X|&S of FAIZ
(b) to change the higher education system (b) 15 us HM7AS v FAIZ
(c) to lower the interest of student loans (©) SiXg tiE2l OIXE HEFAIZ
(d) to pass a law that will lower tuition (d) s532 = gets A2
[H4]  ciel S=30] U &Ce= AME XIA6iH S532 *FF0 Fatn @+oh= sMio| HX|0|Cf, an issue that your Congress ~
put pressure on universitiesS EH CFS 3|7 220l 0] 2HIE sHZsH Eetn @76k WS & 4 UCH £ AKX =259
12 SE32 & ¢ U= Chotil 0|8 SAA Hate AYS & = Uk mat
|

s
golz, o] siMo| FIHo= sk A
L]

A BIZHol| 748 MEst EE (d)o, =t = = 2 el
[012]]  tuition S22 steep 2Zst pursue FF5iCt stand out ERo|ct F=2AICt  address (24| A% S2) CIRCH session 29

id stxig X2

o)

legislator =3/9|2/ put pressure on ~0f Y2l Jtsict  on behalf of ~2 tiHEstod  financia
interest Oxt loan tiE

10 Are you tired of searching through your purse to find the item LRt 212 Fopn xS FXol=zt AR
you need? Do things always seem to get lost in the mess 27 d=el oto] EXEHM AAIL 21 Lo =
inside your handbag? Handy Handbags is here to help put OFMCIIR? Handy Handbags7t g4lel das EA
your life back in order. Our sleek and stylish handbags offer QU == LICH of&stn ZZAQl X5 sh=ule
numerous compartments in which to store small items, A2 2UHE BHE 4 QUZE ZHZHO| LIHOA AN
allowing you to . Handy Handbags are A=E = LCE Handy
available at your local mall, or you can order by phone using Handbagse= X9 SFE0AM FstAL FR2E8
our toll-free number at 555-7190. Never again will you have to 555-719022 FRstM= FUCh o[ o 04 A
dig through your purse to find some lipstick, a receipt, your ElO|Lt 43, RE0|LL BEO| X2 QoM BF 24
change, or any of those other small personal items that often Tl= OEfO] A2 IO ES Flpt X7l A2 HAZ
go missing in the normal purse. g ot glauo
(a) find items in an organized manner (a) == daloz BHE 23S 4
(b) buy a purse that matches your style (b) G222 AEIYUO| Y= SH=dhs 2 4
(c) hold as many items as you want (c) 2{20| Yot= 2 U2 SHSE HE2 4
(d) go through your purse for items (d) S¢S 27| Lol =S FHE

[BH&] e ot 27E FEol 22 & U= 372 0| MBdt= H=ES Zushk= 20ICh numerous compartments in which
to store small itemsS K 0] sH=M Qo= X2 SHSS T8 4 QU= S710| Hike AKS & £ A2, Never again wil
you have to dig through your purseti= 2712 2ot sH=tls FIE eIt girh=s W&ol L2Ch w2ty e (@)ol, (d)=

A= 2Ue Y2 20l AZ=X| Yoz ol 2 4 gich

0lef Bitel= HE0|22 RF0|C} AEIUO|L HE 4
[012]]  search through ~2 FxIct mess Y ZI&0l ¢Ef  handy H2[st sleek 458! 20| Li=  numerous 22
compartment zt store 2&lsict  toll-free 229 dig through ~& FIXICh Tict  go missing 2i0{XIcH

AS8  Answer key



Sometime in the 10th century A.D., Vikings from Norway and 10M1719] o= &, =29J0|2t Ot0|&Zt=2] Hiold =2
Iceland discovered the Arctic island known today as RsY JRHER AT 55 48 LA ol £
Greenland. While Vikings did find a rather temperate region 2 CtA 2Ueh X998 LagiE o) bl J2izte X9
on the island, most of the terrain in Greenland was e 20[91Ct o] X¥9g

. Attempts were made to colonize the AlRIX|2 PtSedE A2t AUSLE AISE ez Slbisl
region, but the colonization effort was full of challenges. Eric Cf, Aol J§Axto] MEXt 7k24| §F Ol Eric the Rede
the Red, one of the chief colonizers, was eager to draw a 0| AQ| QIFIE ST} §HX|BH 2he EEOI0) /| =5Ho)
large population to the island, but he knew the unforgiving SI40| oMo 2 MK 28 A2 LUACE XMOIUE
landscape might not be appealing to many settlers. Ironically, ARER ZTHA HADIA o ofgxdez Sel=5 17t

S|
S5 "= oo,

=

this is why he chose to call it “Greenland”, as it would sound
more attractive to potential settlers.

(a) impossible to live on (
(b) filled with natural resources (I
(c) hospitable for possible colonizers (©) A
(d) already inhabited by the Vikings (

b U=
IX| HHRISOIIA 225t
d) stolZ £0] 0[] AHF5t U=

o
R
e e
>
o
|0
Hu
N
an

[sh4] ORleteo] Muiet SAS AL 49| o2 S0 Yot U= S0t HI0|ZE2 JRIEE=0| tHER0| A7[0f &Eieto] 25tet
O, Eric the Redet= AIZE 0] M5t SH4S ARSI 250 0IFAI717] 9fsh o] B2 TI2ie 2t
peE BH JRIZET AIZ0| A7(of e 2Zolet
= T2 o 4 ot mekM azIZteof et Aol S0{710F st BIFtol 7+ MESt g ()0l
[012]]  temperate (7157 2515t terrain A&, X2 attempt A= colonize A2IX|2 2tsct  chief 72, £28t |
draw A to B AZS B2 dj2|1 7ict  unforgiving 8/ appealing 0i2{%{el  settler &0
hospitable &5t possible 7ts4 = inhabit 733ttt

olonization effort was full of challengesL the unforgiving landsca

kl

ironically MojQl= AHM2, Blojxo2

Mad cow disease first appeared in Britain in 1986, and began
spreading to cows on farms all over the country. It was not
until the mid-1990s, however, that scientists realized

. In 1996, the announcement of a
possible 10 cases in humans sent England and the world into

o
0%
ro

19860 F=R0IM XS LT F=Rol Z2X
2007 HX|Z| AIRRACE 22{Lt 1990E St
faeIRE: = A

IACE 1996 E Fol QIzh ALY AR|7} LEEX}
\

0z 40

1o

ne

09 mo = of
il
)
Rl
o

Hi

ot MMIAE SlAE(2] AlEfoll R O Bt89| 0]
a state of hysteria. Part of the reason for such a response F 3 AY BEEES 40| olztof 7|Eick LRl Fet
was the known effects of mad cow disease on humans. The IHE0ICH O] W of2 aZteto] Lot 45 Athxoz
disease is quite severe, causing the brain and spinal cord to ™o 7|7tof AEX| Hojg|= stAlZIcH a2t o] e
deteriorate into a spongy mass in a relatively short time. AZH0| ZEE AQ| L} HAZ HS Aot =Ctn
However, it is believed the disease can only be spread if UK QJAOM, WwatM QI17tol|7| LEHsH= AT Aol 8l
humans eat the brain and spinal cord of an infected cow, of =olct,

which is why occurrences in humans seem to be rare.

(a) the cow meats carry a deadly virus (

(b) the disease could affect humans (

(c) the disease can make people mad, too (c) 1 HO| MHSE Hulo| L7t
(d) the disease would spread faster than expected (¢ |

[eH&] Yol 420 ofLf2t AZS0IA= Fefe Eite HESQ 20|ct. HIZol= nisfARS0] 1990E ] St Zzist Alxo] £
tt. #oll 0|0{X|= the announcement of a possible 10 cases in humansE 2 ZH0| QI1ZHl|H F&S

= MRS & 4 lem, the known effects of mad cow disease on humans, occurrences in humans seem to be rare

0| & 4 Tk metM (b)7 HE0lH, ZLE0| ARSI 7IXle FYeRE Hob Mpo| &40 OIgEACTZE (o)

= & 4 gle ARMo|C

[012]]  mad cow disease Z?¥ hysteria 1 2 5lAE2| response £  spinal cord %4 deteriorate Lit#txict mass oi2|
relatively Hlx infected Ziglel occurrence 2% deadly x/2%
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| had always seen James as an honest and dedicated L= = JamesS FZlot SiAIXQl XEeg Hok=M|

employee, until | discovered he . I had = = AS YA =Lt

seen James leave his work station to go to the back of the James7t ARMO| AAEES MLE AIRH FZ of2f B 7t

office several times, but | assumed that he had menial things = WS BUOL; SAL; O AHE2et Lol Tt A

to do, like make copies. One day, he was gone for an Z3Bict ol OF2 et Zef @2 X2lE v 1

unusually long time, so when he returned, | asked him if 7t SOIRHS wf MEoLtm SUCE W HRof| g o o

everything was okay. He seemed nervous when answering 7t =xslfetdel Lie &2 ofdletA =ict Lis ol g

my question, so immediately | became suspicious. | decided OE 0|2 SI¥T AMS AN SR Jamess

to follow him one day, and was surprised at what | found. FAL AR AL H2HE St Of 3IALQ| QIEU AXS

James had been using the company’s internet account to olgsige Zdolc

trade stocks on the stock market.

(a) hid away some of the company’s money (@ SAF =2 Y2E wiSFICH

(b) traded confidential information for stocks (b) A2 stz 7| HEE Aot

(c) reported my work status to the supervisor secretly (© W 25 sigs Aol Higz|ol Bagict

(d) violated office policies for a side job (d) 2Ye st=at A g ot

Bl 2 S22t MRAIM AL Xf2lE EX} 015 £43] 02! 2207t ol 2 1 S2E Weit 27t FAIZ 6t URUACE At
e UAch= ook Bzt 220[7F L7dst AMMo| S017tof sh=tl, ol= 22| oiX|at 2&Q! James had been ~ on
the stock marketofl LIEILE QICH S2= 3 QIEUIS 22 ARZsl xR FA AH2iE 5t AUUSH, 0] dFSS S =
FoZ n|20] A AHUS CIE 852 ABdl= A2 #A RHT= Alde & 4 ok w2t g2 (d)olch
[0{2]]  dedicated &A=l work station %I 37t Usk= Xl2| assume FH5iC menial A8t suspicious $A%2  stock F4!
hide away tit=2Ict  confidential 7129 violate ?fefsict  side job £
14 It has been known for some time that the left and right sides QIZt Fjo| &} REL MZ Ct2T

of the human brain are not identical, and that 1 9op SO LMQICH 2Lt A2 TBIXISE 0]

. Until recent times, however, scientists HS Qx| QZHo|AID SHEEICtT AzIsIX|OL fA0|12
thought this was true only of humans, until experiments on Aoz o ASOAM IS SIA| A9} 247 Ch2
monkeys proved that they too exhibit different activity in the 2P o™ QIS S AAHC} QEAS AR
left and right brain. One finding revealed that some apes st= Z40| BHEEQI=E Ol= XI CHEE0|A7} ofLlat,
preferred the right hand far more than the left, a feature that is CIZIJAIM £ 2 Q= EXlo|ct A0 oJ5HH GHS0|Lt
seen in humans as well but not in most of nature. Studies ZE 90IYS =2 AL H7Lt E= EES
showed that lower and mid-level apes mostly used their right MEZ Q5= CI2 ES & 0ff (B8 2EAS AR
hands for tools, eating, and other activities that require extra ShCh
dexterity.

(a) the right hand is more commonly used than the left hand (@) @2£0| aHCt O xpE At2Ect
(b) each side specializes in different things (b) 2+ B20| ztzt Ct2 2oto| M25tE|o] Uct
(c) humans and apes have the same size brains (©) o1Zta} QLIS Ze 37|9| L2 JIX|1 QUct
(d) apes use the right side of the brain more often (d) RIS QLIE O XIF ARSIt
[6HA]  QIZtHEOE OfL|2t SQIRE et 259 7|50| PHE N QU= AFMES gtAdick= 20|t the left and right sides of human
brains are not identicalZ} they too exhibit different activity in the left and right braing &M QIZtn} SOI R FfL|ot 2L
£ 27| T Foll ALZSiTi= AMO| LE2CE Foil 0l0fX|= B2 BT ofH |2 QZIXNE QEES O X AIEsHH,
E AlZok= Feo] Folld ASS L & ACL T2kM 52 (0)0IH, KLU0 REE O XIF ARZSith= g2 ULt 1sixis
0] Z7ist £ Atale el = A2 Ol==Z (d)= g0l 2 4 ik
[012]]  identical S¥st exhibit 20|t finding (ZAL o171 S2) Zut reveal 8i5ICt feature £4 dexterity X% ape {212
specialize in ~0f Z2sf=ct
15 In his new movie Conquest, director Jonathan Waller seems M Fst <Conquest>0A Jonathan Waller =2
to have given in to the pressures of Hollywood. Once a hero 2lFEol Yol Zel Zag Holnt, Sggstr el S8

A100 Answer key
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of the independent film world, Waller in his new film, strikes a 2 E9| QNS ot 19| T <The Rebels>XAg =

decidedly different tone than in his previous art house 21 EAY Ql= FIIE JI0E MES AHs| Antet I
projects. Fans looking for a film as stunning and insightful as 0|t <Conquest>0il= <The Rebels>7}t 1= ¢!
his previous one, The Rebels, will be sorely disappointed. st /IE dXl= tiste, = 8% Qls9l 8%9| Aol= ¢f
Conquest has neither the witty dialogue nor the depth of ct, <Conquest>= Waller
character development that made films like The Rebels so Z=0| AUist S2|RE9| X2 AHE Qs WSOl I
appealing to audiences. , with Conquest, S MU Ze 4 Ak

it is safe to say that Waller has forsaken his fan base for a big
Hollywood paycheck.

(a) Overall (@) tENo=z A=

(b) Besides (o) AT

(c) Otherwise (c) 2=X| Qo

(d) Indeed (d) A2, drz=

[aiA] &t et Z4=9| 2|2 eyt MAF =& HstErt 1 Zo| YoZRIcks &9 20]Ct given in to the pressures of Hollywood=

1 ¢=0| gejR=0| 2530= WE0IH, WSE 0] Falof MY, E tisfel EL Q129 Hol= Sittk= FolM St ¥
2 ZEPHoZ L Ho|ct g7t Foi 0[0iX= WHE2 0IZ H2lsted d=0] YelR=9 = 20| 19 ¥ &2 AUACk= Xol=
2, gi7iol= Z0E UEl= HZ0i overallo| S0{710F BiCt

[012]]  giveninto ~of 2=5ict strike (fH Ef=Z) F5ict  decidedly 245 tone 29171 stunning %% insightful S22 Q=
sorely &A1 witty x| A= forsake AMu2Ich H2Ict  paycheck 2=

16 After months of negotiations, a merger deal has been struck o Z7Ho] SAb Zof 22101 AfA Rainforestet Q1E{H!
between online retailer Rainforest and international bookstore MEFQ!I Burns & Huntleyo| sio| MZA=ZQICH 2
chain Burns & Huntley. Both are top companies in their field, CHSE AMap S0 HMMEIZ TMIA AH|XIOI A MB35t
offering an extensive array of books, music, and accessories = 0] 2oke| =1 AFCY, £
to consumers worldwide. , many analysts M7He ol S2IQ0| &7|Ho2 Rainforestof Al &4
say this move could hurt Rainforest in the long run, since = 4 Ui 2=t Burns & Huntley2| A0f a7t
retail sales in Burns & Huntley have declined every year for X 104 =ot ofs =1 U7 W20l ofS2
the last decade. In addition, whether Rainforest can save the Rainforest7t Hloi7t & && HMQlg Azl & USK|=
chain of stores from ruin remains to be seen. oJ2o|ct,

(a) However (a) Fx|et
(b) That is to say (o) ZStxHA
(c) As aresult (c) 1 &t
(d) For example (d) oIE S0
[sh&]  ziztel 2ofoflM -%% o AXg 7 S At giEe dHICkE WEel 20|ch BIZE ¢of= Both are top companies in
their field2 20 T 3|A} RF 20toj|M 7HE FO{LICH= Li20| LIRX|BE BIZE £{9| many analysts say this move could hurt
Rainforest in the long rung EM 0| 0] & 3At 2F0AH 2X2H2 QUCh= 0| LI2LE 0] &£ WE2 M2 XS 0|82
2 "2 (@olc,
[0{2]]  negotiation &4 merger & retailer 2014 extensive 2RI analyst 247t in the long run &7(xcz
decline Z4sict ruin 2 ot

[Part 1] p.164

17 Today, it is perfectly normal for women to pursue their own s Hgs0| Y SRS Mol g2 AVIE 2
paths in life, such as achieving career goals and choosing Hote 5, A2l QIS F5H= A 25| HAFO|
when to marry. This was not the case just over a century ago, Cf, J2iLt 23t 8 A7| &, BlE2|o 62 AlcHof Ao
during the Victorian Era, when women still held a very low MEIA XRl= odtie] S0 g2 ngol stk &
place in society. Women were not thought to be suitable for COhD GARen xMig BYE 4 Qe

ISP U
employment, meaning that they were required to marry a man FCh 09| A2 O0IE H TF MRS SfHM
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who could support them. A woman’s role consisted of bearing Ho| 5k 2 «&5te Z0(Uct, st

otz oy
children, keeping house, and obeying her husband'’s every wish. S 59| xjAI9| ZFH0IA LEC| LOSiCt

In short, they were a kind of slave in their own households.

Q: What is the best title for the passage? Q: ¢ 20 7+ MHst X=e?

(a) Similarities Women of Today and in the Victorian Era

(@) @5E1} Bl=2(0F Y Alth oo RARY
(b) The Common Practice of Marriage in the Victorian Era (o) & & El

(

(

1l
IE2/0F & Alchel 845 2&2 &

(c) Low Status of Women in the Victorian Era
(d) Women'’s Rights Expanded after the Victorian Era

) BlE=2(0} Ofg AlCh 0142 2 XI2
o) HiE2(0t Of2 Alch 0| 0y R2lo| 41

[BH&]  HE2(oF o At HYS| AlElH etofl HMeto] AURSH AtelH X|97F FUTH= LHE0ICE, This was not the case ~ a very
low place in societyS EM HIE2|0F Y AltHe] HMES0| Sxlet= 2| AtZ[0M TR 2 XIS 7’(|-7\|§j|:|-i e & 2 9l

T X = T
oh FElg g £ Qe TAUS st oM Al of FFs With= WE0| 015 R *é.éf QUCH et g2 (c)o]
O gl tiet 0joF7[7F LiRLE, dE 50| ofd 0idS0el H2 ARlA xR0 2FE HF1 UCBE (b)= 200
[012]]  pursue F75ICt achieve A5ICH suitable €942 bear (010IS) €Tt obey w2t £&5ict  household 7+
similarity RAE status &2
18 After its founding, America struggled with the complications of 2 0% 0|2 0|2 YF0It LIZts| 2 Al= 2
living side-by-side with the Native American tribes. In the end, H2 TESISCH AR 0|2 M0 AfXs =
greed won out over tolerance, as American politicians and glo] A= S %@O?W, 20| 228 =
businessmen wanted the lands on which the Native Americans 1831HL2E] M= A (Andrew Jackson) S
made their home. Beginning in 1831, President Andrew Jackson 2 o= %?E‘% 22 A 012 2g8 X8
ordered the removal of Native Americans from their ancestral (Deep South)OilAl 0|8 Zig HHZICH 1=2 &
lands in the Deep South. They were to relocate on government N @=ets0HOkKlahoma) =7t = HE @oz of
lands in what would become the state of Oklahoma. The journey Zoflof gict 40F ol /IF019| 0|52 Esn U
of these tens of thousands of Native Americans was difficult, and S ARZfo| H|QAMD EfXI 7|0t FQICE
many died of bad hygiene, exhaustion, and hunger.
Q: What is the main topic of the passage? Q: ¢ 29 FH=?
(a) Why the American government needed the land from the tribes =~ (@) 0I= HE7I X0 2 o= JH 0If
(b) How the Native Americans fought back for their lands (b) Ol= EF0IS0| S =R7| ol MHE HAl
(c) How the Native Americans settled down in Oklahoma (c) Ol= #F0IS0| 232ta0tol HAeH 29
(d) How the American government took the land of Native (@) OI= =7t 0= EFRIE G #iote 2l
Americans
[sH&]  Dl= ™27t 0j= #FPS0| A1 E T2 #oln 252 Sixjel 2Zatsot 2 UX| 0lFAIXCE UEo|tt Hex A
0| CHEZO| 0= #FTIS0| O|Fot=E HHS LR T, 10 o2t FF0IS0] 0/5S 5tHA EE 0lF ez wUe 0150]
SN0 4= 0|7 HEIL AR T2 oEA wiolU=Xl 1 IHEE oloprletn /UeBE HE (d)7F Eoh #R0IS0] Xt
\

e
2 ojdlis mLt 232rs0F o FAGE A0] ofun, & FARICHs LHE0] AHMeZ MAI=X] 2282 (o= ol € & gl

[012]]  struggle with ~2 £46ict  complication =%t 24, 2317{2]  side-by-side Li2i5| tribe 5% greed =2
tolerance 28, ot ancestral &2 relocate 0I5AI7ICt  hygiene #14 exhaustion 2%l settle down Exfsict

19

If you're looking for an easy way to help the environment, eating
locally grown food might be the closest solution. In most

communities, there are at least a small number of farms that offer ol AMSH AIES XS0 S8 A2 o5
fresh food to locals, and buying their food directly can be an AS0| Q7| OlHo|H, 1 AIES =1 sk 20|
ecologically friendly practice. The food you find in the grocery store = ME{ZISEQI SiS0[Ct AEXY| Uz AE2S T2 4
has usually been shipped from hundreds to thousands of miles 2 Ot SoilM 2&3l = X0l 5 OIS0 Al
away by transportation. In fact, it is said that the average “fresh” TRl MMSE offie 22| AlEloll 227 (71K 1,500
grocery item travels 1,500 miles to reach our dinner tables. This OtZE ofdelttn Bith OIS flsiM=E thIE Al
requires big fuel-guzzling trucks that pollute the air. However, by 7lg, =5 ®0| He E=0] RSt 1oLt X
buying locally, you can help eliminate some of this pollution. OllA OHSICHH Ol 22 =0l 7|0dg 4 AT
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21

Q: What is the main idea of the passage? Q: ¢ 29 FH=?
(a) Local foods are fresher than shipped food from other areas.  (a) X|¥ A/Z0| o2 X[YoIN vHSHR AZ2CE o Al
(b) The cost of local food is much lower than that of shipped MBI
food. (b) XIS AZ9] 7HA0] HiSE AZEOH O MICH
(c) Buying local food can help the environment. (c) X9 AIE Foi7t etgoll ==20| 2 4 A
(d) Eating healthy food is key to helping the local environment. (d) st 2Al2 HE 20| XY 2HHE &= o Ss5Ict

[BHE] XY AIES Ho OE RoIM s 2 f == =7t Zofeln I8 & 20| LoiLkx] 7] w20l etdoll ==0| &
Ch= Lol 2olct & 2AI If you're looking for ~ be the closest solutionof| 0| LIR0| 7t2f5| LIEtLE Qom, obx|et 2&kof
Me XS AZ2 sl et 2o YRsk= #ele MHE +~ QAthks 80| LI2C) w2k g2 (0)olth 7H42 Blwstx|
AUCESE b)= ¥ 4 glen, (a)= LEMXR! SHo/H 20l =2iLt UX| Y82 QEoO|C
[012]]  community xIZiAts]  directly Zxo=2  ecologically MEfsixioz  transportation 444-T mS4
fuel-guzzling ¢125 20| %= eliminate M {siCt emission (Et42) tiE
Teenagers often exercise poor judgment, causing them to 10US2 &8 HHH0| 2=s6t0] 23006t WSS ol
display reckless behavior. Until recently, scientists believed EICL AE7HK] HEREE 0o 22 felo] A gF
that the root cause of this was a mixture of environmental o MU s229| Hatoll WE Zol2tn YL T2iLt
influences and hormonal change within the body. However, 10ciofl et Mds A= =2k MRS sk,
several years of neurological research on teens has revealed a = tj= Sx[Ho=z= 2Lt 100S02t: 25 S4 2 &
surprising fact: the frontal part of the brain, which governs Hotn SAEHEE HEote Hel ¥RE0| S25] UL

impulse control and decision making, is not fully developed SHX|

U
even in physically mature teens. In essence, it is the same lack Qsitt Aoz XMIE 20 AE 0|28 wE )%
of development that causes toddlers to unknowingly put ot 22 Zolct,

themselves in dangerous situations.

Q: What is the topic of the passage? Q: ¢ 29 FHE=?
(a) How the brain works in teenagers @) Mool =7t &Ecke YA
(b) Why teens show reckless behavior b) HTiS0| F28t WSS Hol= 0IR

(c) How teenagers become physically mature
(d) Why toddlers behave the same as teenagers

Et
-ID
ro\‘

tisol PSS oh= 0IR7F E2=1 249l def 02t M2sigien), S Zujol T2l o= QA 2HE st
=58 leé}t o] st HEO| X5 UHSIK| 47| mfR20|2k= WHE9| Z0ICt, the frontal part of the brain ~ even in
physically mature teensollAf 1 917 ZTE 2 4 QIS0 0l ROIAIE MSECH= Lo LIS 20| S0 Ee ¢ Z
7t HiS0| F28t WSS sh= 0IR0l et X0I=2 ()7 FH-oICH

0 HJIH

[012]]  display =2iuict, 2olct reckless 228t hormonal 229 neurological 4139 frontal (H2)) ¥222| govern SHsict
impulse (Z%A2) &5 mature 48t toddler Z30ts HiR= 00|, 2t 0t0]  unknowingly M= 227

One of the major causes of death and disability is a condition AlZOoILE Folel = ol 7t2dl sfths A[EAel 4

known as traumatic brain injury, or TBI. The leading cause of 2M0|Lt TBIZ Y2{A ot TBIO| FYQILS nE At

TBl is car accidents, in which damage occurs to the head ol E5| telof &4 U= Z=0(ch o L9 AX
specifically. Such injuries to the brain can be so serious as to LU 2ol e f

cause an array of conditions, including a decrease in mental

functioning and even death. Many measures have been taken
to reduce the likelihood of life-threatening TBI in car accidents,
such as the addition of seat belts and air bags to lessen the 4
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MIIs ZEIL AXIo Aol o2
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Al dEE IE
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|20 E2idt=

< MSH 0
impact. Given that many cases of TBI can develop later if there 7ig ne{gt [[H /\) At o] mafixts & ofAlo| QiEEtE
=

are complications to the injuries, victims of car crashes are st

urged to seek medical care even if they feel fine.

Q: What is the best title for the passage? Q: ¢ 20l 7Fy ®MES M=2?

(a) Traumatic Brain Injury in Car Accident (@) & A1 ¥y H &
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(b) How to Avoid Brain Injuries in Car Accidents (b) WS AN | &4 mlet=
(c) The Seriousness of Traumatic Brain Injury () Aad | &40 MZHY
(d) The Symptoms of Traumatic Brain Injury (d) Q&b | afo] A

[BHE] s AIofM Yoig 4 A= Ay & &4 iEn 0|8 UE & %1% Ao CHet =0ICt Traumatic brain injury, & 2|4
A L] &M e LHE0| IE ARt 226 The leading cause of ~ the head specifically, to reduce ~ in car accidents,
victims of car crashes ~ they feel finent Z0| 20|A] Z|& BH2E|T QoO2 HOZ JHE MASH A2 (9)0|Cf, 2 =] &4
2 Iots Y O 342 MR AeZ UgEAREZ (0)2f (d)= 2EOo|Ch

[012]]  disability Zof traumatic 2142 so as to 5| ~aliAf ~GiC
likelihood (0ofd o| US) 7t life-threatening 2is
complication &% victim 2} mEixt urge 225

} take a measure =x|Z F/sict
[gol= lessen 0|t given that ~& 1eisid

mm
4o
gl

symptom 3¢

22 It must be a flattering and exciting experience to be hand- SAIIA EoiM SElg oh= A2 2F &0t tlik=
picked by one’s boss to receive a promotion. However, it is ZEo|ct J2iL} &%l mEe M2 Molg Mzisi=
important to think about the new responsibilities that may come AT Qs e AIRMS0| &7l mME B 282
with a promotion. Many people rush into accepting a promotion MBS MZIEHR| k1 XIS EA gholEQlct ol &
before giving themselves time to consider the trade-offs. For AXIEHH 07t 221 AZol|l =20 XL o
instance, while the promotion may pay more and help your job e Ao A|Zkp AR R HEE AEYAS 2Lt
prospects, you should ask yourself if there is room in your life S O4X|7F SHAL QIM0 Q=X AAZO|A| Z0{ofat Bt
for extra time at the office and additional stress related to the Cf, B STIo] Falo| oratst Aol U Hehrt EchH
new position. If the promotion interferes too much with your E8 ZAX|DH 7 |5H= Z40] ARM0|CH
well-being, it may, in some rare cases, be best to pass it up.

Q: What is the main idea of the passage?
) Q: ¢ 29 FHl=?
(a) Stress can result from being overwhelmed by work.
(b) Promotions usually have more advantages than @ ~E2AAS 20 NEBO2M FUE + UM,
disadvantages. (o) Tl ot LoliECh= 0[50] o Rt
(c) Receiving promotions means having big responsibilities. (© TS Bt AS = 2 M2 S0lH.
(d) Promotions can be more trouble than they are worth. () S 2 7Rlof Bloh B SXA2I7H 8 4= U,
[B1d]  &T2 PEUT Hotsol= ARM 8212 & 0f A7|= MU0t AEAS F M2t B= Ho| £2 ek W&l 20|
Ct. However, it is important to ~ with a promotionS 22 0| W&0| 725 HMAIZI] Ao, 22| ofx|at 2RI If the
promotion interferes ~ to pass it upOil= &210] O S2&IH2|7E 2 24 Z2oM A= Ax £2 4iHol2l= W0 Li2LC) o}
2tM ()7 FEHOIH, )= MR Moz MAIE W8 2esg Qoo
[012]]  flattering 2%5p st=  hand-picked 245t AEat4| 12 rush into M=2| ~2 5ict  trade-off (M=l @49) 7
prospect M2 room 0GR interfere 2eliSict pass up ~S Z7[6iCt overwhelm i=aict

23 Dear Editor, HEX} ot
| am writing in response to a story from last week’s newspaper Rt = NZo|M AlQIE7F EA0] 2 X|HE M2
stating that the city council has voted to rezone the riverside AAX| T2 MEHHs o SOl6t%CtT £ 0]oF7(of CHak
area of town for new business construction. Do | even have to & 2| X} SLCE 27401 0] EA0f O ek )|
say what effect that will have on this town? The riverside isone ~ ZX| 20| Y2 5ozt 77 ZH2 22| AZAMA
of the most beloved parts of our small city; | cannot count all 71E AR gh= XL ZTIE ZE Y ZE0IMe
the fond memories | have of walking along the riverside, AZE 2 AI™O S=0I7IX| RE =EFE 7|AS Cf
picnicking on the banks, and even swimming there as a child. A A QIS XIFYLICE o] XFE AMYXR MEHE
The decision to make this area into a business park goes AMS 0| £A|Q] ZE ADIO| AZF| G7)= Zof| 9JuH
against everything we, the citizens of this town, hold dear. | will = AYUCt XM= AM3lel 1ol X XHR0| EEX
not stand by and watch our best natural resource be destroyed ot 1& HER mtitl= AE THM3| A1 X7iE 4 9
by bulldozers and high-rises. FLCh
Sincerely, Sheldon Parker 22

Sheldon Parker
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Q: What is the purpose of the letter?

(a) To express support for the article
(b) To accuse the editor of mistakes
(c) To complain about the city’s plan

(d) To persuade readers to stop the city’s plan

sl Al olslol M dHE LS 1

story ~ for new business constructionS &

a1

=222 MO*T\FLE

~and high risesZ 23 Z20[#0t ofL|2t Al2

XIS MOHs AAS o 4 Qoo (¢

2l

in response to ~0il S5t city council Al 93]

W 220[7} g

IS5 0lof Bt
(c)7t golct. sXEs dSatod
rezone (X, X|%4S) xif 7

high rise 15 7= accuse A of B AZ BIHR0] Hl:faict

The Scarlet Letter by Nathaniel Hawthorne is one of the
greatest classics in American literature. The novel takes

place in colonial Boston, an American city, which was heavily
religious. Hester Prynne, the novel’s heroine, enters into a

relationship with the local minister years after the

disappearance of her husband. Because her husband has
not been proven dead, the community accuses her of
adultery, and ®she is forced to wear a red letter “A” on her
clothing so that all will know her crime. Despite this
humiliation, Hester comes to feel peace with her decisions
and to have pride in herself, regaining her dignity no matter

what others say.

Q: Which of the following is correct according to the passage?

(a) The husband of the heroine was actually dead in the

novel.

(b) “A” stands for the crime the heroine is accused of.
(c) The heroine regrets her behavior at the end of the novel.

(d) The story takes place in England.

[BH] Ut s29] AH (FESM)Q &7
AR 3 = CHE gXiet #AS 3
on her clothing so that all will know

= 82 US0[Ch gHe A3EUctn

take place 2ofLict
adultery 75 humiliation 22

LQROZ (a)= Hf

colonial AZIX| AlcHe|

2| 7tefol Alsh
Al =IXE A
her crimes 2™

s=

enter into ~

~

o

regain s|=stth  dignity

It is no secret that risky investment practices undertaken by
big banks led to the beginning of an economic recession in
the United States in 2008. This U.S. recession had effects
throughout the entire world, including Canada. Much of what
is manufactured in Canada goes to American consumers.
@As the recession deepened, Americans had less money to
spend on everyday items. For this reason, the manufacturing
sector in Canada took a major hit. Its products were no
longer being bought in large volume, and the country quickly

followed the U.S. into recession.
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= 20/t SWHOR U1 PHB ABIOIM Al 01FQIBO| HEo|
0B S H5Z|2 TASICE sheis forced to wear a red letter “A”
SZE UEUE= "A'E ey 21 Hojo} Bitte 0| LBz (b)
| 2 4 glen, oof7|9] Hid2 nl=e] HAHO|I2Z (d)= &0,
S ARfGICH minister 42Xl AL disappearance A2tE, &
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e 2SS0l MXIE figlet EXb 2ol 2008 nl=9
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Q: Which of the following is correct according to the passage? Q: 9 29 U Ux|st= HE2?

(a) Canada produces most of the goods sold in the U.S. (a) FHLICH= O1Z20IM Tels REC AES MASHTY
(b) Canada’s risky banking practices led the country to (o) 7HtTtel 2lefet 2& eVt A=l 24715 SR
recession. (0) DI=eIe 27l £ XE617| Bris 2er)

(c) Americans save money rather than spend it in a recession. (d) 0|2 2Z7|= HLiCto] EXIE ZAAZIC

(d) The recession in the U.S. resulted in less profit for Canada.

[Sh&]  ol=ol LIglet T=XF deff S22 Qs A7l X=el 24717t vt deke FUk= g2l S0(ch FHLictol A MZE R
O] AEQ| D|=ZCe= TFHLIJIL} O|=QIS0| E47|2 AH|Z 0|k}t FHUCtE 874 247/0 M ERUCE As the recession
deepened ~ Canada took a major hitS EH 0] L§E0| Lot Qle= 2 71 MAsH 2 (d)o|ct, FHLCte] AEZ0] 0|20 0|
Zel= 0|, ol=0llM FHLCE AF0] XtXlsk= HIE0] 71 =& A2 OtLIEE (a)= 2EO0|0, ()= 21t Biti=l= ol

[012]]  risky 9I&8t undertake Mt AIXSICH recession 27| manufacture MAGICH sector 20 take a hit Et#E ot

26 Have you ever dreamed of walking the boulevards of Paris, of2lel AH2lg Adn AHQlel NHES Z2ict 2L F
gazing up at the cathedrals of Spain, or strolling through a 9| g3 YES Moh= B2 & H0| ALR? 4=
royal palace garden in England? This life-changing experience HEIA7|= 0] 22 Aol Gl sitolof U&LIch
is within your reach. ®Euro-Tour Inc. offers summer group ®Euro-Tour= X@et 71402 CiYot RY ZAIE &
tours at exceptional rates to a wide variety of European cities. £ HASHE (2 HHAGE MEYLICH EAIQE 2|,
Create your own travel experience?you choose the cities, the DEATIIX] MEHEI] KHAIDEO| 043 HEHS TtEM|e
sights, the transportation?and we will roll it all into one package = 12{H X3|= Eto] £&9| £5{6k= 7422 &Ll Tf
with an unbeatable sticker price. In addition, if you organize a 7IX2 FOHEZLLE 2Hof & 2 o|AS 20t o 18
tour of ten people or more, Euro-Tour Inc. will cover the price 2 TS0 @AH Euro-Tour?t O2129| OHIE 23&
of your package. That's right. You get to travel FREE. LiCh 2E&UCH o2Ee ZmE ofgdlsk= Aok
Q: Which of the following is correct about Euro-Tour Inc.? Q: ¢/ 22 Euro-Tour Inc.0fl Cish L8 LXlok= A27?
(a) It has a fairly expensive service that comes with great (a) E2 0|&S 747l HIM MH|AT} QICt

advantages. (o) & =Al ofHBE HZTHCF
(b) It provides travel only to European cities. (c) BE A of2oilA Smk of2l o7 XIS MSSHCh
(c) It offers free tour packages for all group tourists. (d) A 2ol Q&I A= ERls shELt.
(d) It gives a discount for the leader of a tourist group.
[B14] S Al HEis MIste o 2IAke] Z1o|ch Euro-Tour Inc. offers summer group tours at exceptional rates to a wide
variety of European cities2 O|20{&0} 0] A= |8 EA| TS MStith= AS & 4+ UCH, T2 o@dX|of ofet ¢i=0]
o2 (b)7t ol =t ZoM T2 LsH= exceptional rates= HIW 7H40] OfL|2t EFALRF H|WEHM £2, & M 7140(2k=
ol0jo|=& (a)= QEO|H, Tl KEzds Ql&at= A0 SM s MEoC OB E (o) (de 25 &8 FHoldt
[012]]  boulevard (=A12] 71247t S0iM) =2  gaze up Mt=2Ct cathedral tf 49 stroll 7ct  exceptional 0z%Q!
rate 22 2% roll into ~2 &xlct unbeatable Efst

27/ In today’s workplace, employers are looking not only for QB9 M 12FE MKl B8 oLzt Xt
dedication, but also for a desire on the employee’s part to 2oto| X|AIZ Yslaie X9l UX T ZA|EHC
expand knowledge. @At Hargrove University’s online business “Hargrove University| 2221 =LA AZS Soff
school, you can get that degree without sacrificing any time at AR Al siMdEl e glo] e FSaHIAR.
work. Hargrove University’s online MBA can provide you with Hargrove University 222! MBA t&e &z 434
all the knowledge you need to secure a successful future in Ol H|ZLIAE &135| 5l0At St o227 Hest 2=
business, and our generous financial aid packages make us XAIS MEstH, Crust XM X If7|Xls o A= 3
one of the most affordable schools on the Web. Our faculty are DAL HM3|o] meRIe Z 2ot 19 MEIiE2 T
top professionals in their fields and will guide you through the RIS S5l HES AHAGHA Q=BT tHet
program with helping hands and open minds. For a practical 29| A0l siEe HZ Hargrove LI
solution to graduate education, choose Hargrove.

Q: According to the passage, what is the advantage of the Q: 9| 20| w=H 0] thsto] 0| R0I7}?

university?
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(a) It has shorter courses than other online universities.
(b) It raises the self-confidence of a company’s employees.
(c) It saves employees’ time by offering online courses.
(d) It offers scholarships to most of the employees enrolled.

(@) CHE =22fel st ago| Hct

(b) AFEEQ ZHIZE SAHECL

(o) 22! IFEE HMSI0 AFRES| AlZIS Eofsl =0
(d) S=8 Al tRE0i7 g2 miSettt

[6H&] SINREES Moz S 22101 sty S EH5k= tfste] &o|Ch At Hargrove University’s online ~ any time at work
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[0{2]]  dedication siAl expand H5/ct  degree st9l  sacrifice SlAsiCH
affordable 25t2 faculty w42 practical

Summer is here, and it is time for the Young Writers Contest,
brought to you by Broadman Publishing House. As always,
young writers aged 12-18 are encouraged to submit short
stories and poems to be judged by professional authors. Short
stories can be of any genre, but must not exceed 5,000 words,
whereas poetry submissions should be limited to three poems
per entrant. ®We are proud to announce that one of our judges
this year is none other than Marcus Riley, acclaimed author of
young adult fiction and truly the voice of a generation. This
year, our grand prize winner will receive $2,000 and publication
in our yearly Young Writers anthology.

Q: Which of the following is correct according to the passage?

(a) A famous fiction writer will help judge submissions.

(b) The submission of short stories is limited to three per
entrant.

(c) The grand prize includes a meeting with professional
authors.

(d) Writers must be 18 or older to enter the contest.
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[012]]  submit MZ3ict author 27t submission XZ  entrant (ZEAE S9) 27X acclaim ZAIZ 5t generation Ak

publication 7t anthology ¥A| M

At the heart of the American Dream has always been the idea
of social mobility. Social mobility occurs when each generation
is able to be more successful than the last in terms of income
and opportunity. However, a new study shows that this mobility
is quickly disappearing in the U.S. and in several other Western
nations. In a list showing the gap between the rich and the poor
that includes Canada and Germany near the top, America is
the first among nations where inequality leads to poverty. The
best countries for social mobility lie in Scandinavia. ®Both
Denmark and Sweden were also found to have the smallest
income gaps, largely due to their extensive social programs.

Q: Which of the following is correct according to the passage?

oto2|zt =2lo Sol= XL Atgl olSoll thet ol
O Z2Tm QAct Akl 0lF2 2t Michzt Xiizt Mickoll
Hlsh AS0[Lt 718]9] EHoIN 2ot d3HY 4~ 2UAS
o Lofttt a2it M2 ¢l = o) olF
o=t 042 M7 =71ollA Ji0| ARRFX|L QUL t‘ﬂ
of Jitet Xte AXE EoF I

°f SL0| YAS X[t 7HE|

Xl =75 7124l 01=0] 1915 XXIHC,
7FY & 0|R0iXl= Uzks AztCiLtd(of Bt
R[S Tt PHIOIEE AQEHE AS /M/% Tte

QH=t, Ol ZeioIat Aje] m202 =Ho|ck
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(a) Scandinavia comes at the top of the list. (a) AZIC|LIH|O} Utz = 2|AEQ] AQ|0f &6t
(b) Social programs seem to help lessen the income gap. () AtE| Z2T2H0| AS ZAXIS E0l= A 2ot Bolr)
(c) The American Dream is becoming more achievable. (©) olll2zt =S 2M J15A0| S0K|T QlCt
(d) Canada and Germany have small income gaps. (d) FHLiCtet =YL= A5 AR} A
[BHE]  Ale] 0I52 AS1t 7127t SEe 20 Lojlt= Atel SQlt, ol=mt THE M7t =7I0IM= Atel 01F0] 72| LOo{LEX]
20 AUtk 20i0}, BIE AR 7R 2 Lalol= JHUC 0=, SY0| ZeEH SR/E =7i= Mel B8 2203 59| HH
O=F ZiXP7t AfCt, Both Denmark and Sweden ~ their extensive social programsE 2% Atg| T2 20| A5 ARt

Eﬁﬁiﬁfﬁ 2ol JeBz (b= &2 HEOICL AS ZAPL 245 2/AEQ| 20 fIXGIEZ (@)= 2E0(H, ()2 (d= ¢

gthel= Lol

[0f2]]  idea At mobility 84 0I5 in terms of ~0f Zalid= income 45 disappear AlZIXICH  inequality £%
poverty 7ttt lie in ~0il It extensive th=2 lessen Z0lct achievable &4 7ts6t
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30 This is a notice to all employees that company CEO Frank S|Ate] ZHYGXIR! Frank Gilberts|HHM 25 2
Gilbert will be holding an open session this afternoon in the = ZoHolM S 2US Jhzlgre ™ Aol O*EL
conference hall. It is very generous for our CEO to be taking ZLIC HHE YHolle =+t XMElel ATdEXItH A
time out of his busy schedule to speak directly with company oA AY AME ot= A2 DiP ZAFSH L2M =X
employees, making this a rare event that should not be missed. A& tzl= =2 J|3QLICt Gilbert&ZEMAA SAL
Mr. Gilbert will be delivering an address on the current status of =~ Z&0i| thslf SIAGHA CHS EOI2E AjZH| Q12 0fH0|
the company, which will be followed by a question and answer U, 925 0| X2lg ZHlehiEAld HIELUDH 0|0l
session, ¥so everyone is encouraged to prepare for the event. Gilbert=|&'E0| Fx[cl= PHEO| SEILICHL & FA5tM
Afterward, a banquet will be held in Mr. Gilbert’s honor. Please N SR ZALC| EE2 Ha{lZA|7| HERLIC
show your appreciation for our CEO by attending these events.

Q: Which of the following is correct according to the passage? Q: 9 29 ugnt Yxlet= Z2?
(a) The CEO frequently holds open sessions for employees. () ZDGYR= RYUSS St RS X1 Mt
(b) The CEO plans to speak about the current economic () R TZGERI= SIX] M| Aol el Lt AZolct
recession. (c) RE AYUSE HES ot 7 Oley affof Bict,
(c) All employees should ask more than one question. d) Mese 2t ¢35 5 o &Mslels 9RE wa
(d) Employees are asked to attend both the session and AL,
banquet.
[BHE]  3AS] 21 HEADt AESS Yz SIHEUS Sof a7 Sl 2lAe] A&l il 00F7|S Lis1At St & ARZO| &Hod
ot Hi2tCH= LHE9| ZX|0|Ct so everyone is encouraged ~ by attending these eventsE EH 21t Q| 0|F9| M| HF
o] Mz FRsh= UE0| Aesz (d)7t FHOIDH ZYS 0= 7|37t Motu iesez (a)= QEO|H, dx 4ol otuzt &
T 2|Atel Aol thelf Yotcin Hesz (b)= REOICE HE2 2FAIZ0| ofL2t HYARI0IEZ ()= Fo| 2 4 gich
[012]]  hold &ct, 7izlsict  conference hall &l91%  deliver (¥14) sict  address ¢4 status 4%  banquet (34) &3], ozt
in one’s honor ~0lA ZolS #at0d, ~S 7|datH  appreciation ZAt
31

The new smart phone from Sing Electronics is scheduled to go ~ Sing Electronics2| A& AOIE 20| 0|t Z2Q20f| Al
on sale this Thursday, and our editors had a chance to preview = TH= of ™Qld| X3 HEXISS AlEt Xoj| 0j2| AI2si=

the phone before its release. Overall, we found the Sing 4600 7|8E 7sU MAM™Moz X3l Sing 46000/ 0]
to be a vast improvement over the previous model, the 3600. T 2 36000t FRHLIeHA HHHAUSE & 4 UAN
@While the 3600 had slow internet performance, the new model = &LIc} ©36002 QIE{S! FL0] oLt A 2Ee of
navigates the Web at blazing speeds. Downloads are faster, 2 HE A2 YUS SHSLD OREcEs o Wt
applications more responsive, and email more efficient. In 38 ZEIYU2 ¢ B2t HS3IAL, oluYe o 55X
addition, the construction of the smart phone is more solid than =~ 0[&LICH 0K22 ADIE 29| PEYUAIE 3600LCt
that of the 3600. Best of all, the Sing 4600 allows users to o dTgch, SN 22 FE Sing 4600 AIEXt=
integrate information from all other devices—computers, PDAs, ZARELL PDA, MP3 220|101 & 2= 2 FRI9 H
MP3 players—into a single device. HE §lLZ SEY 4 Ath= AYLCh

Q: Which of the following is correct about the new smart phone? = Q: @ 22| A ADIE Zof| st L1t UX|5H= 2
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[BIE]  MZ L2 ADIE Z1t 01 222 H
! A £ETF LR M2 L

LHE0|H, Al ADIE Z2 &

(a) It responds a little late when running applications.
(b) It is more fragile and sensitive than previous models.
(c) It functions separately from computers, PDAs, and MP3

players.
(d) It has exceptional Internet capabilities.

[012]]  release Al performance 4@ navigate (

responsive =2 ttSak=  efficient 2%
capability 4s

English scientist Edmond Halley played a lead role in the Scientific
Revolution of the 17th century, contributing to the disciplines of
geology, mathematics, physics, and especially, astronomy.
Through observations and mathematics, @Halley believed that a
series of comet sightings that had occurred at regular intervals
over the past two hundred years were actually appearances of the
same comet. His calculations resulted in a prediction of when the
comet would return. ©As it turned out, he was correct. The comet
did return when he said it would, but Halley was not alive to see it.

Today, this comet is known as Halley’s Comet.

Q: Which of the following is correct according to the passage?

(a) Halley had no interest in other studies than astronomy.
(b) Halley spent most of his time studying the comet.

(c) The comet comes near Earth on a regular basis.

(d) Halley lived to see his prediction come true.

[Bhd] =l IRt dal7t oo F7IE HEs

the same cometg HH da|= 29 Hofl 22X HSEJUE 4S50 B5 22 6lldolet=
Eloh= 718 MIRICH As it turned out, he was correctZ2 £ 19| 7150| &Lt A
ol 22le 8k ARFYCEZ (@) (b)= RE0IH, Hel= XIQl 0f=0]

SHEOt Ofil X[ZE] 48
.

2 ()& 2F0|

[012]]  contribute to ~0i 7|oi5ict  discipline x4 20
sighting 52 at interval 71422 calculation

Hollywood films have been adapted into Broadway musicals
many times with great success, but one of the exceptions to this
is the new musical based on the Shrek films. The actors do an
admirable job performing the roles of all the major characters in
the film, and the set and costume design is enough to impress
theater fans. @Where Shrek the Musical fails to please,
however, is in the composition of the score and lyrics. Many of
the musical numbers lack invention and seem boring, serving
only to stretch the story to fit the two-and-a-half-hour play
format. In addition, much of the show’s humor is lame, which

may turn off some parents of small children.

Q: Which of the following is correct about the musical according

to the article?
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(a) The songs are unoriginal and not entertaining. (@) 2o =2Mol glend MolUX|= QLo
(b) The acting does not match that of the film. (o) A717t Hatel AVIE mWafIix| =i
(c) The jokes are clean enough for small children. (c) otoISofiAl XEet SEO| Li=2Ch

(d) The set design is unimpressive. (d) S CIxfRlo] Qled&olX| 4Tt

[6H4] RS Halol (elh2 HIo2 ZHMGHY] BtE AES E1 # 2|20|ct Where Shrek the Musical fails ~ play formatof| FX|
Zo| HHO| HAI=Iof ATt Lol =80l REst 2412 HIo[Lt == S5 AlZtoll S7] ok Tz BHS01 H XIF6t 2210]
2= 80122, ()7 FEOCH ¢7|2t 2o & 9 eB2 (b), (de= 2ol 2 & e Molgles s

0 LI2Ci1 geso= ()= 2Fo|ct

o
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o
ro rx
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[012]]  adapt zMGict admirable ZEEt 25t costume 24, 2% impress ZAI7Ict composition 74 score (¥l #=32) S9f
lyric 7tAt number SE(ER), 28 fit ¥k lame ME2  turn off 0|2 9| Stttk unoriginal S&%0(X| 42
unimpressive 2I4%0[X| o412

34 Zebras are known for ®their distinctive black and white stripe Og2ato| MESH SHt Z2L|= OFMoIA CiYst S5
patterns which may serve multiple purposes in the wild. Each = A= Aoz U2 Qo) 220 AZLU2 nRTH &
zebra’s stripes are entirely unique to that animal, which leads 2LZ 20 Q0| o StAk= B2L7F Aldg Q5 0]
some researchers to believe that stripes are used as a form of KECtT U=C} C12 ISii= UEY| Z2LJ} Q&
identification. Other scientists believe that zebra stripes serve o U&0l2t St F ZAXL E5| AlXtz 2=
as a kind of camouflage. Their main predators—lions—are after Molo|D2 ER2L7 359 MAIX|o| = 7| 2 E0t
all color blind, so the stripes could help the animal blend in with A L Q2 EoIRECE J1A X229l stMe =24}
the tall grasses of its habitat. A more recent theory suggests OIS offe X|Yut StEfor e, 4829 M= 23
that the stripes match patterns of fat beneath the skin, and S 9ot Yoz MoICk= 2ok
serve as a way for the zebra to regulate its body temperature.

Q: What can be inferred from the passage? Q: ¢ 20 =28 24 Q= 7127

(a) Zebras identify each other by the stripe patterns. (a) g2o2 22 £ M2E FESICt
(b) The function of zebra stripes is of controversy. (b) Y=L 2L 7|52 =29l thyo|ct
(c) The white part of a zebra’s stripe pattern is made of fats. (c) YE2EY Z2L|o| M HE2 x|Hio|C}
(d) Lions can tell zebras from tall grass. d) Xt gE2e 7 20t 12E 2

[BHd] =Y SR 7|50 tiet 20Ict, o WSIXE2 EUS0| M2E AEs7| fIgh HEoletn M2Istn, o SXE2 MY
QI MRIZRE 71 20 AHR|=5 510 XS E55| e MAH fL2tn FHICE 2Z0= Mz 222 fIt Weolzls
e Lgt=|, OIA2 25 7HEY #0|E2 Z= HEY 2H9| 7|52 =2l OX7t = 7 tiyolch metd B2 (0)7t
o, (@)= SEEX 22 AM0|EE Ho| & 4 QlTh ()= ==X &2 FE0IH AXPE HEY 2H9t 71 22 2 + ol
Chn Seoz (d= 52 F=olch

[012]]  distinctive =8t identification 42 camouflage % predator ZAXt blend in (% 2Zol) 401 Ect  habitat AAX|
theory 0|2 regulate Sxistct identify ot=ct  tell A from B A%t BE 6ict

35 Many cities face the problem of car accidents on the highways, e CAS0| IAE2 DE AlD 2XE actrpl=
and conventional thought on the subject has dictated that wider o, of 2xof chst HMEXQI M2te T27} oM AL
lanes would lead to fewer accidents. However, studies show 07b E0{ECH=s Zio|ct 2Lt 7ol oM Z=a 1
that this may not be the case after all. ©Upon studying major HX| QUL OE2IF BES o T2E RS Ant &2
roads with narrower lanes, researchers found that drivers are 71 %ol 52 3R 2TKtE AN HAS & SiUct @
less likely to change lanes if those lanes are narrow enough. S &olH Al 2HS0| & A0|1 wEs EFCl H
They assumed that ©building narrower lanes could reduce the Ol2 SiAsh 4 Qlit sih BislE = Z29| &
likelihood of accidents and solve one cause of traffic jams. 2 EZ2 oxX¥oz Fol=0 E= HI mj20] 0] 0|2

Unfortunately, the expense of purposely narrowing lanes on = Ot&! Aol &7IX| Zot ot
major roads means this theory has yet to become practice.

Q: What can be inferred from the passage? Q: 2 20N =2 4 Q= 2427
(a) Traffic jams are a major cause of car accidents. @ n& HMBS nE M1 F3h felo|c
(b) Narrow lanes force people to pay attention. (b) B2 A2 ARFS0] YSoI=E shECh
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(c) Changing lanes can lead to more accidents. () Xt

20l Afm7t 50| Yofe 4 Qick

1L

A
(d) Narrow lanes are cheaper to build than wider ones. (d) @2 A2 A= AL0 F2 0| o MLk

[t

4]

0] HESE wE MUt E dole Aojets SE2 M AMO| E245 AMurt 2 dofHnt S
Upon studying major roads with ~ are narrow enoughS =M XtM0 =

building narrower lanes could ~ traffic jamsE EH XM0| HOH nE A7t & YoLtn 1E XHBEE EHELCE LHE0
2Lt O] & JHX| MAE BEiotH xRdo| o A HES d sl22 A &= A

(©)7+ Ect,

conventional =5| &t 21&5=0!  dictate TEGICE olop7[Stct lane XM assume FHsich  traffic jam nSHS
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(AN
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1o

e

e

expense H|8 purposely 2=2| pay attention =25 7I20lct

For years, residents of the East Side neighborhood have watched = 4 7t 0|AEA|E ZRIFHEIX| HFLSS AN
housing deteriorate and crime skyrocket as unemployment rose. £0| E7telol wet Egfole FE g50ts HAE
Although new neighborhood development plans are under way by ~ ZZ3ict HIZ2 AN BHX| i AZlg Ztsin
the city, many roadblocks stand in the way of completing the oLt YME AR5k Hl= MOHS0| Hoh T of
development. For one thing, the neighborhood has been XFE AH M SRl S3X0[X] RFUCH T2iM
unsuccessful in attracting businesses back to the area. This ZE(Q} Rl 20| 04™5| Horlon 0| ofef
means that many vacant lots and abandoned buildings still stand, 7elet Ze Wl #elo] M0 1 QlCt @AZt 0]
all of which are prime areas for criminal activity such as drug S 22 gz S4st| 7| MEHEE 0lx0
dealing. ®Until the city provides increased police presence to the A MHIZ 17|12 of&s| 742 Zdo]ch,
neighborhood, businesses will remain reluctant to build facilities in
the area.
Q: What can be inferred from the article? Q: ¢ 20IM F2E 5 U= W27
(a) Reducing crime will attract more businesses. (@) HE7 gAclH O B2 AIgAZE S01E Ao|ct
(b) Vacant lots are where most crimes in the city occur. (b) SEiE ZA| U thRE2] M7 LojLi= Ro|ck
(c) The East Side was once the most developed area. (©) OIAEAIO|=E= Bl 7HE JHEE X|H0[AUCE
(d) Businesses left the neighborhood because of crime. (d) Hz| 2ol AIEHZE I XHS miRto
[61d]  HUS0| B7totHAM 0|AEAOIE X9 20| Y2 =T HAZ0| X410 e, MYHMSO0| ChA| SHMA| Rok= 0lf=
KIS0IIA K= Lo{L= Al th20[2k= LHE0o|Ct Until the city provides ~ build facilities in the areaZ £51 ZA&={0] 1 X9
ol O BH=X| 4= et AGAHIS0| 2 X0l S0127I1E 71 Zolek=s AES & 4 QT Ol= HI2 ZE0| 1 X949l HAE
OfX| Kol MEAMIE SOH@X| Y=lls Lt Zes2 G2 (a)0|ch HE7E Ho] YojLtz! sttt =A| H2| 5 71 B2 B2S
AXloh= Xlz & 4 Sle8z (b= RE0|H, ()= 2S Soll & 4 gle ARoCh AIEAISO0| mLtn HAZ} 4471 Z40[22 (d)
& QEo|ch
[015]]  deteriorate 2&izlct skyrocket 255iCt unemployment 4% under way ZIE%°! roadblock Zolg, Bl
stand in the way it} glgisict vacant lot BIEf  abandoned t2{Zl  prime &235t criminal Hx(C]
reluctant 72l=, xfst=  facility Ak, 712
Canada is the second largest country in the world, bordering the FHLCHE MAGIM & B2 2 Lziely Pszo2
Atlantic Ocean on the eastern side, the Pacific Ocean on the HAMY, MEoZRE= EfEY, J2|1 552 S36HE

western, and the Arctic Ocean to the north. On account of its vast H5h QICE o)A Zoyst oz olaf FHLictel oI
area, Canada is sparsely populated, with just 3.3 people for every 7 2= 012 WOt HM& Z=20/5 E 33Ho|C,

square kilometer of land. Most of Canada is made up of FHLICES| CHEES D|7hx|olct ME 7H|.}E}: mtﬁér
wilderness areas. Western Canada is home to great mountain AtgHTp Sy 22l SX[Q) HH S8= Zim Aots|
ranges and low-lying wetlands, while central Canada is unique for = ZAIZl ix@g EMoR siCt B8 7Hq:}g W=l
its wide, rolling prairie lands. Northern Canada is largely 2 MOl A £ gl=d, ol A2 ol 532 712
uninhabitable, due to its freezing Arctic temperatures. 20|,

Q: What can be inferred from the passage? Q: ¢ 20M F2 4 Q= A7

(a) Canada is famous for its natural resources. (@) 7Ltk T XFEez [T

(b) Canada is surrounded by oceans on three sides. (b) FHLCHE &EH0] HittZ S2IM0 RUCE
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(c) Most parts of Canada are impossible for humans to live in. () 7HuTtel tiREE AfZo] &7] E7Kset X|o|ck,
(d) Population density is the lowest in western Canada. (d) ME FHLich= Q17 Heot JHE ok

[ai&]  FHLtchel X|2|2t o1t Ueof thalf AFstT Q= 20ICt bordering the Atlantic Ocean ~ Arctic Ocean to the northE EH S
ZOoZ2E= UMY MECEE HEY, SX0=2= S0t 0t Utte UIES Sal 7iLith= ATH0| itt2 S2iMel JEet= At
e U 4 U0t matd g2 (b)7t ot HZFEsks A0l A9l gle RE JHuUTtel S20(22 (0)2F (d)= 2E0(|H, M XHo|
et ge AUSBR (@)= Hol 2 4 gl

[012]]  border (2, Z72) sttt on account of ~20l  sparsely (21771 E2=2st siEist  populate 7FAI7|CH
mountain range 412 low-lying %2 wetland &X| rolling 226t ZAIEL  prairie tiZ2  uninhabitable Af20| A& £ gi=
freezing H=LI =2 density 2=

[Part IIi] p-175

38 Many well-known war crimes were committed by the combatants = & 227l e MM =HA|= X} MACHES AXMZE
of World War |, but one of the earliest and most horrifying may Ol MAZE=, =7|9 718 BMsH HA| = HLt|
be the Rape of Belgium in 1914. (a) Though Belgium was 1914182] "Wrlo| Afzi(the Rape of Belgium)o|ct, (a)
neutral in the growing global conflict, the Germans feared that dlole MAXR 20| 1A= oks0l S8 X
guerrilla fighters might rise up within the country. (b) Soon ZioL = Foi= ool W ARz MER Bt
enough, the German army marched into strategic Belgian cities, 2 S (o) Mea| HWIloe 2F A2 P
executing residents, looting supplies, and burning down St =S ROIZ Shlstn EXIE Aol HES
buildings. (c) Belgium would suffer yet another German invasion SENRICE (c) "oIo= Alch7t o] 3094 2t 2%t Al
less than 30 years later at the start of World War II. (d) The AL AR =Q4o| £ CH2 F2o| 1S 2ok
incident led to condemnation by Western nations, and served as Cho(d) 3 AA2 A7 MAIQ bIHS gitn F=9
motivation for Great Britain to enter the war. ™ S717+ =AC

[8140]  19145t0] ofct HWIlof Afeiol v % Zulof che) CHEm QU B0ick SETOIUE W0 LoIA HZ2tS0l S0 Uoje
22 2o = )

f
As 2 Lo| HW oIS HSHen, olof M7t Li2kE0[ AESkn F=0] 1XF MIAl tiEof| ETste Z2uE 22, @
=i S [t

s s

4
(0), ()= 25 &0l Atziel upEnt ZuS LR oL (O)= 2% M7l TiE Al Eoof S0l tigt 0jop7|S ot Ues
2 29 FHQt 022X Y=Ct

[012]] commit &5ttt combatant M5 ME2H  horrifying A2 7Ixle  neutral 282! fighter 5% march ZiZsict
strategic 2t 25 &2l execute 0|0t resident 2! |oot &=siCt invasion Z2  incident A4
condemnation ¢ Hlt  motivation X=, |

39 Major industries have implemented a variety of practices to help ZQ MAHEL MY 7|12 Z0[7| sl CrUSH AME
reduce waste, but one method seems to have been largely SHREXIDF OFRIZER] CHAZ Zhatstn Q= Z40] Qs
overlooked thus far: packaging. (a) The packaging is useless o, 272 HiE LFolo) (a) 2E2 IH MZol ¥
once the product has been purchased and opened, creating an A JHEEH 227} glooz ALst M 7|2 S
enormous source of waste. (b) In addition, the process of of et (b) 7L 0] RE ZAXHE otes= Do
manufacturing all this packaging creates unnecessary pollution AN ZQ oAl @0 AT (¢) LIop7} iR
from factories. (c) Furthermore, most companies use plastics to 71Y9e HME 0| ZEtAES AIRSH=0|, S2tAE
package their products, and plastics are not biodegradable. (d) S M2 Hafx| Y=Cf (d) MEE SXoIL ME
By using materials that are recycled or biodegradable, and using = 2&ff MZE AtE5tT ZEMWE G AISICHH A
much less of them, industries could reduce unnecessary waste. = ELQSH 7|22 &Y 4 S Aotk
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The concept of repressed memories was first introduced by
Sigmund Freud in the 19th century and has remained
controversial in psychology. (a) Repressed memories are those
that have been forgotten or “pushed out” of one’s
consciousness, most likely because they are traumatic.

(b) Repressing memories in this way is said to be a method for
people to cope with terrible events they had to go through.

(c) The controversy over repressed memories has to do with
whether they can be recovered through therapy and whether
the “recovered” memories are even real. (d) Sigmund Freud
abandoned his theory of repressed memory at the turn of the
century, and began working on alternate theories.
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